
CHEMISTRY

BOOKS - MARVEL CHEMISTRY

(HINGLISH)

P-BLOCK ELEMENTS

MCQs

1. Atomic no. of N is 7, the atomic no. of IVth

member of nitrogen family will be

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_ZcRa1QsjmYGe


A. 23

B. 51

C. 33

D. 43

Answer: B

View Text Solution

2. In  and  the common is

A. Odour

NH3 PH3

https://dl.doubtnut.com/l/_ZcRa1QsjmYGe
https://dl.doubtnut.com/l/_7BmauzEwN5M2


B. Combustibility

C. Basic nature

D. None of these

Answer: C

Watch Video Solution

3. Ionic radii (in Å) of ,  and 

follow the order :

A. 

As3 + Sb3 + Bi3 +

As3 + > Sb3 + > Bi3 +

https://dl.doubtnut.com/l/_7BmauzEwN5M2
https://dl.doubtnut.com/l/_xq1QHcgb7VOg


B. 

C. 

D. 

Answer: D

Watch Video Solution

Sb3 + > Bi3 + > As3 +

Bi3 + > As3 + > Sb3 +

Bi3 + > Sb3 + > As3 +

4. Which one of the following elements is most

metallic ?

A. Bi

https://dl.doubtnut.com/l/_xq1QHcgb7VOg
https://dl.doubtnut.com/l/_mrYaNaMYadYk


B. 

C. 

D. 

Answer: A

Watch Video Solution

As

Sb

P

5. Which element from group 15 gives most

basic compound with hydrogen?

A. Nitrogen

https://dl.doubtnut.com/l/_mrYaNaMYadYk
https://dl.doubtnut.com/l/_1r8Twt3DkqAO


B. Bismuth

C. Arsenic

D. Phosphorus

Answer: A

Watch Video Solution

6. The basic character of hydrides of the -

group elements decreases in the order

A. 

V

SbH3 > PH3 > AsH3 > NH3

https://dl.doubtnut.com/l/_1r8Twt3DkqAO
https://dl.doubtnut.com/l/_2z9lZac9e2Fb


B. 

C. 

D. 

Answer: C

Watch Video Solution

NH3 > SbH3 > PH3 > AsH3

NH3 > PH3 > AsH3 > SbH3

SbH3 > AsH3 > PH3 > NH3

7. Thermal stability of hydrides of first group

elements follows the order :

A. NH3 > PH3 > AsH3 > SbH3

https://dl.doubtnut.com/l/_2z9lZac9e2Fb
https://dl.doubtnut.com/l/_geoIuL9Wa1a5


B. 

C. 

D. 

Answer: A

Watch Video Solution

NH3 < PH3 < AsH3 < SbH3

PH3 > NH3 > AsH3 > SbH3

AsH3 > NH3 > PH3 > SbH3

8. The three important oxidation states of

phosphorus are

A.  and −3, + 3 +5

https://dl.doubtnut.com/l/_geoIuL9Wa1a5
https://dl.doubtnut.com/l/_hjejaYhnOSu3


B.  and 

C.  and 

D.  and 

Answer: A

Watch Video Solution

−3, + 3 −5

−3, + 4 −4

−3, + 3 +4

9. What is hybridization of P in ?

A. 

B. 

PCl5

sp3

sp3d2

https://dl.doubtnut.com/l/_hjejaYhnOSu3
https://dl.doubtnut.com/l/_3VV6FHRbkOG6


C. 

D. 

Answer: C

Watch Video Solution

sp3d

sp2

10. Which of the following is isoelectronic as

well as has the same structure as that of  ?

A. 

B. 

N2O

N3H

H2O

https://dl.doubtnut.com/l/_3VV6FHRbkOG6
https://dl.doubtnut.com/l/_EO7xvgsuojIF


C. 

D. 

Answer: D

Watch Video Solution

NO2

CO2

11. Which of the following oxides is the most

acidic?

A. 

B. 

AS2O5

P2O5

https://dl.doubtnut.com/l/_EO7xvgsuojIF
https://dl.doubtnut.com/l/_KgtaJWbuBmSk


C. 

D. 

Answer: C

Watch Video Solution

N2O5

Sb2O5

12. Which oxide of nitrogen is obtained on

heating ammonium nitrate at  ?

A. Nitric oxide

B. Nitrous oxide

250∘C

https://dl.doubtnut.com/l/_KgtaJWbuBmSk
https://dl.doubtnut.com/l/_QrNkbFoovN9T


C. Nitrogen dioxide

D. Dinitrogen tetroxide

Answer: B

Watch Video Solution

13. A deep brown gas is formed by mixing two

colourless gases which are

A.  and 

B.  and 

NO2 O2

NO O2

https://dl.doubtnut.com/l/_QrNkbFoovN9T
https://dl.doubtnut.com/l/_FSHldurf4dFB


C.  and NO

D.  and HCl

Answer: B

Watch Video Solution

N2O

NH3

14. Which one of the following oxides of

nitrogen is blue solid?

A. 

B. NO

N2O3

https://dl.doubtnut.com/l/_FSHldurf4dFB
https://dl.doubtnut.com/l/_Hohb6s1NZsPh


C. 

D. 

Answer: A

Watch Video Solution

N2O5

N2O

15. Of the following compounds, the most basic

is

A. 

B. 

N2O

P2O5

https://dl.doubtnut.com/l/_Hohb6s1NZsPh
https://dl.doubtnut.com/l/_CcPWfww36UAF


C. 

D. 

Answer: D

Watch Video Solution

As2O3

Bi2O3

16. The structural formula of hypophosphorous

acid is

A. 

https://dl.doubtnut.com/l/_CcPWfww36UAF
https://dl.doubtnut.com/l/_jm8eLXWI1bf2


B. 

C. 

D. 

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_jm8eLXWI1bf2


17. Orthophosphoric acid is

A. Monobasic

B. Dibasic

C. Tribasic

D. Tetrabasic

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_Vvr9XH9HcToh


18. The number of  bonds in cyclic

metaphosphoric acid is :

A. Three

B. Two

C. Zero

D. Four

Answer: A

Watch Video Solution

P − O − P

https://dl.doubtnut.com/l/_pmTKjFN3ubHZ


19. Which one of the following is an oxyacid ?

A. 

B. 

C. 

D. HCl

Answer: A

Watch Video Solution

Ba(OH)2

Mg(OH)2

H3PO3

https://dl.doubtnut.com/l/_o80isMG4cXZs


20. The triple bond between  atoms of

nitrogen molecule  consists of

A. Three -bonds

B. Two -bonds and one -bond

C. One -bond and two -bonds

D. Three -bonds

Answer: C

Watch Video Solution

N

(N ≡ N)

σ

σ π

σ π

π

https://dl.doubtnut.com/l/_4Vz9z4kVfTma


21. The molecule having bond order 3 is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

H2

N2

O2

He+
2

https://dl.doubtnut.com/l/_nj1g6ZRj0NmT


22. An element  forms compounds of the

formuls  and  , but does not

form . Which of the following is the

element X ?

A. B

B. Al

C. N

D. P

Answer: C

Watch Video Solution

(X)

XCl3, X2O5 Ca3X2

XCl5

https://dl.doubtnut.com/l/_tz8MSK4ICMrO


23. Which of the following is obtained when 

reacts with calcium carbide ?

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

N2

CaCN2

(CH3COO)2Ca

Ca(CN)2

CaCO3

https://dl.doubtnut.com/l/_tz8MSK4ICMrO
https://dl.doubtnut.com/l/_aJ12PFp73Qrm


24. The explanation for the presence of three

unpaired electrons in the nitrogen atom can be

given by -

A. Heinsenberg's uncertainly principle

B. Aulbau's rule

C. Pauli's exclusion law

D. Hund's rule

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_LrRR7QHSkIj0


25. In which of the following the  is not

used ?

A. Cold storage

B. In surgery of an Anaesthetic

C. Manufacture of rayon and plastic

D. None of these

Answer: B

Watch Video Solution

NH3

https://dl.doubtnut.com/l/_WyC3GETjrw5x


26. The shape of the ammonia molecule is

A. Tetrahedral

B. Pyramidal

C. Planar triangle

D. Octahedral

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_NHts2FCt4KO6


27. When ammonia is heated with cupric oxide,

a molecule of ammonia will

A. gain 3 electrons

B. lose 3 electrons

C. gain 2 electrons

D. lose 2 electrons

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_7MHoCYH5Om1s


28. Chemical formula of Aqua Fortis is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

HNO2

HNO3

NO2

N2O

https://dl.doubtnut.com/l/_xyHnvxOm9fzR


29. The mixture of calcium cyanamide and

graphite is used as fertilizer under the name

A. Nitrolim

B. Phosphate

C. Phosphorite

D. Hyponitrate

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_mHvb1gQxcCIN


30. The formula of nitronium nitrate is

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

HNO3

NaNO3

N2O3

N2O5

https://dl.doubtnut.com/l/_jWj6vu36rPch


31. What may be expected to happen when

phosphine gas is mixed with chlorine gas ?

A.  and  are formed and the

mixture warms up

B.  and HCl are formed

C.  and  are formed

D.  is formed

Answer: A

Watch Video Solution

PCl3 HCl

PCl5

PH3 Cl2

Pl3PO4

https://dl.doubtnut.com/l/_Snmba5fFLJL2


32. Which of the following phosphorus is the

most reactive?

A. Red phosphorus

B. White phosphorus

C. Scarlet phosphorus

D. Violet phosphorus

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_xPu0g2Gi0xLi


33. White phosphorus is

A. a monoatomic gas

B.  a pyramidal with triangular base solid

C.  , a crown

D. a linear diatomic mokcuk

Answer: B

Watch Video Solution

P4

P8

34. , the hydride of phosphorus isPH3

https://dl.doubtnut.com/l/_ABtodobfL9By
https://dl.doubtnut.com/l/_vj5APvpp35u2


A. Metallic

B. Ionic

C. Non-metallic

D. Covalent

Answer: D

Watch Video Solution

35. Basicity of orthophosphoric acid is

A. 1

https://dl.doubtnut.com/l/_vj5APvpp35u2
https://dl.doubtnut.com/l/_PYDdmtAI3lXe


B. 2

C. 3

D. 4

Answer: C

Watch Video Solution

36. In the following reaction 

A. 

PCl5
H2O
−−→ HCl + A

H2P2O4

https://dl.doubtnut.com/l/_PYDdmtAI3lXe
https://dl.doubtnut.com/l/_6QMBrXS1XlL0


B. 

C. 

D. 

Answer: C

Watch Video Solution

H2P2O7

H2PO4

H3PO3

37. Which of the following compounds

undergoes sublimation ?

A. ZnCl2

https://dl.doubtnut.com/l/_6QMBrXS1XlL0
https://dl.doubtnut.com/l/_prEUZN2av66O


B. 

C. AgCl

D. 

Answer: D

Watch Video Solution

CuCl2

NH4Cl

38. The electronic configuration of an element

is . Its properties

would be similar to which of the following

elements?

1s21s22p63s23p63d104s24p3

https://dl.doubtnut.com/l/_prEUZN2av66O
https://dl.doubtnut.com/l/_Npszpwhs7SrT


A. Boron

B. Oxygen

C. Nitrogen

D. Chlorine

Answer: C

Watch Video Solution

39. Nitrogen has an atomic number of  and

oxygen has an atomic number of . The total

7

8

https://dl.doubtnut.com/l/_Npszpwhs7SrT
https://dl.doubtnut.com/l/_yX343NAmojdw


number of electron in the nitrate ion 

is :

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

(NO−
3 )

8

16

32

64

https://dl.doubtnut.com/l/_yX343NAmojdw


40. If  changes into , the oxidation

number is changed by :

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

HNO3 NO+
2

+3

0

6

+4

https://dl.doubtnut.com/l/_86uXoPUpKuKK


41. Which of the following leaves no residue on

heating ?

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

Pb(NO3)2

NH4NO3

Cu(NO3)2

NaNO3

https://dl.doubtnut.com/l/_GNQdVPqhYhAX


42. A metal  on heating in nitrogen gas gives 

 on treatment with  gives a colourless

gas which when passed through 

solution gives a blue colour  is :

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

X

Y , Y H2O

CuSO4

Y

Mg(NO3)2

Mg3N2

NH3

MgO

https://dl.doubtnut.com/l/_XVRxwCeoCwjc


43. Calgon (a water softener) is :

A. Sodium hexametaphosphate

B. Sodium phosphate

C. Copper sulphate

D. Arsenic sulfide

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_XVRxwCeoCwjc
https://dl.doubtnut.com/l/_86vDWI1aszaV
https://dl.doubtnut.com/l/_rsZDHAdEI82d


44. Oxidation number of As in  is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

H2AsO−
4

+6

+5

−7

9

https://dl.doubtnut.com/l/_rsZDHAdEI82d


45. Which of the following compounds is

explosive in nature?

A. 

B. 

C. 

D. NOCl

Answer: B

Watch Video Solution

PCl5

NCl3

H2N2O2

https://dl.doubtnut.com/l/_1y7CpDoa36Np


46. Ammonium ion is :

A. both an acid and a base

B. a conjugate base

C. neither an acid nor a base

D. a conjugate acid

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_1ZEih3TB1jPU


47. Phosphine on reaction with hydrobromic

acid gives

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

PBr3

PH4Br

PBr5

P2H4

https://dl.doubtnut.com/l/_9Yaqd7r7rmUf


48. An important method of fixation of

atmospheric nitrogen is

A. Fisher-Tropsch's process

B. Haber's process

C. Frasch's process

D. Solvay's process

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_kiiW5wQYEwlJ


49. Which compound reacted with  gives

an organic compound?

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

CO2

H2O

NH3

Cl2

PCl5

https://dl.doubtnut.com/l/_DiXuWPqDpFF7


50. The hydrolysis of  by  produces

A.  and HOCl

B.  and HCl

C.  and HOCl

D.  and HOCl

Answer: C

Watch Video Solution

NCl3 H2O

NH2OH

NH2NH2

NH4OH

NH2Cl

https://dl.doubtnut.com/l/_6g42FFnwnfIM


51. Liquid ammonia bottles are opened after

cooling them in ice for sometime. It is because

liquid 

A. brings tears to the eyes

B. has a high vapour pressure

C. is a corrosive

D. is a mild explosive

Answer: C

Watch Video Solution

NH3

https://dl.doubtnut.com/l/_hX0ERRS15DrT


52. Ammonia is mainly manufactured for

fertilisers by the reaction

A. Reaction between ammonium chloride

and calcium hydroxide

B. Haber's process

C. Serpeks process

D. Cyanamide process

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_Fl6OFpXjruXt


53. Nitrogen can be purified from the impurities

of oxides of nitrogen and ammonia by passing

through

A. conc. HCI

B. alkaline solution of pyrogallol

C. a solution of  acidified with 

D. a solution of KOH

Answer: D

Watch Video Solution

K2Cr2O7

H2SO4

https://dl.doubtnut.com/l/_Jgts95pDdLPm


Watch Video Solution

54. calcium cyanamide on treatment with steam

under pressure gives ammonia and

A.  and 

B.  and 

C. CaO and 

D.  only

Answer: A

Watch Video Solution

CaCO3 NH3

Ca(OH)2 NH3

NH3

CaHCO3

https://dl.doubtnut.com/l/_Jgts95pDdLPm
https://dl.doubtnut.com/l/_OVbox35xV6BN


55. The catalyst used in manufacture of 

by Ostwald's process is

A. Platinum gauze

B. Vanadium pentoxide

C. Finely divided nickel

D. Platinum black

Answer: A

Watch Video Solution

HNO3

https://dl.doubtnut.com/l/_kCG4lPNRXb6b


56. In the catalytic oxidation of ammonia an

oxide is formed which is used in the

preparation of . This oxide is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

HNO3

N2O3

NO

NO2

N2O5

https://dl.doubtnut.com/l/_WdtHYiXwmmzn


57. The white pigment used under the name

pearl white is

A. BiOCl

B. 

C. 

D. 

Answer: A

Watch Video Solution

BiCl3

PCl3

AsCl3

https://dl.doubtnut.com/l/_eyK3Exd3FTFa


58. The oxidation state of iron in

 is

A. 0

B. 

C. 

D. 

Answer: C

Watch Video Solution

[Fe(H2O)5NO]
2 +

+1

+2

+3

https://dl.doubtnut.com/l/_YvMF4Y99U0TB


59. The reaction of  with X leads selectively

top  . The X is

A. dry 

B. a mixture of  and 

C. moist 

D.  in the presence of aqueous NaOH

Answer: B

Watch Video Solution

P4

P4O10

O2

O2 N2

O2

O2

https://dl.doubtnut.com/l/_waQhtPRAnu7b


60. Of the following acids, the one which

possesses oxidising and reducing properties

and has the capability to form complex

compound is

A. 

B. 

C. HCN

D. HCOOH

Answer: A

Watch Video Solution

HNO2

HNO3

https://dl.doubtnut.com/l/_WAGkZXXUsRmq


61. Which one of the following compounds is a

peroxide?

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

NO2

KO2

BaO2

MnO2

https://dl.doubtnut.com/l/_WAGkZXXUsRmq
https://dl.doubtnut.com/l/_r73rN4btwSch


62. Oxidation states of  in 

and  are respectively

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

P H4P2O5, H4P2O6

H4P2O7

+3, + 4, + 5

+3, + 5, + 4

+5, + 3, + 4

+5, + 4, + 3

https://dl.doubtnut.com/l/_xzxF3DkiHVqG


63. Fixation of nitrogen means

A. conversion of free atmospheric nitrogen

into nitrogen compounds

B. the action of dentrifying bacteria on

nitrogen compounds

C. decomposition of nitrogenous

compounds to yield free nitrogen

D. reaction of nitrogen with oxygen

Answer: A

https://dl.doubtnut.com/l/_MD0KWCrm0f4d


Watch Video Solution

64. Orthophosphoric acid on heating gives :

A. Metaphosphoric acid

B. Phosphine

C. Phosphorus pentoxide

D. Phosphorus acid

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_MD0KWCrm0f4d
https://dl.doubtnut.com/l/_LjBwKzICUvzh


65. In case of nitrogen,  is possible but

not  while in case of phosphorous, 

are possible. It is due to

A. availability of vacant d orbitals in P but

not in N

B. lower electronegativity of P than N

C. lower tendency of H - bond formation in P

than N

D. occurrence of P in solid while N in

gaseous state at room temperature

NCl3

NCl5 PCl5

https://dl.doubtnut.com/l/_nxdoG2RWTWI3


Answer: A

Watch Video Solution

66. The number of hydrogen atom(s) attached

to phosphorus atom in hypophosphorus acid is

A. three

B. one

C. two

D. zero

https://dl.doubtnut.com/l/_nxdoG2RWTWI3
https://dl.doubtnut.com/l/_0fsBShdC33Of


Answer: C

Watch Video Solution

67. Repeated use of which one of the following

fertilizers would increase the acidity of the soil?

A. 

B. 

C. 

D. 

(NH4)2SO4

KNO3

NH2CONH2

NCl3

https://dl.doubtnut.com/l/_0fsBShdC33Of
https://dl.doubtnut.com/l/_CXR2p5usAECI


Answer: A

Watch Video Solution

68. When vapours of  are passed into

water through delivery tube, the bubble of gas

formed when comes in contact with air, forms a

ring of smoke. These are due to formation of

A. 

B. 

C. 

PH3

P4O10

H3PO4

PCl4

https://dl.doubtnut.com/l/_CXR2p5usAECI
https://dl.doubtnut.com/l/_k7OhBM6UrQ1a


D. 

Answer: A

Watch Video Solution

P4

69. The formation of brown ring in the reaction

between nitrates, conc.  and 

involves

A. oxidation of nitric oxide to nitrogen

dioxide

H2SO4 FeSO4

https://dl.doubtnut.com/l/_k7OhBM6UrQ1a
https://dl.doubtnut.com/l/_nViutDn1a9xv


B. reduction of ferrous sulphate to iron

C. reduction of nitrate to nitric oxide

D. oxidising property of sulphuric acid

Answer: C

Watch Video Solution

70.  bond angles in 

molecule are

A.  and 

Cl − P − Cl PCl5

120∘ 90∘

https://dl.doubtnut.com/l/_nViutDn1a9xv
https://dl.doubtnut.com/l/_o0PPgHqGkPqA


B. and 

C.  and 

D.  and 

Answer: A

Watch Video Solution

125∘ 30∘

160∘ 25∘

60∘ 125∘

71. The correct statement for  and 

 is

A.  is dibasic and non-reducing

H3PO3

H3PO4

H3PO3

https://dl.doubtnut.com/l/_o0PPgHqGkPqA
https://dl.doubtnut.com/l/_mcLPefifmpME


B.  is tribasic and non-reducing

C.  is dibasic and reducing

D.  is tribasic and reducing

Answer: C

Watch Video Solution

H3PO3

H3PO3

H3PO4

72. Which of the follwing is the most basic

oxide?

A. Bi2O3

https://dl.doubtnut.com/l/_mcLPefifmpME
https://dl.doubtnut.com/l/_ShvhpuozJJTv


B. 

C. 

D. 

Answer: A

Watch Video Solution

SeO2

Al2O3

Sb2O3

73. Excess of  reacts with 

gives

A. Sulphuryl chloride

PCl5 conc. H2SO4

https://dl.doubtnut.com/l/_ShvhpuozJJTv
https://dl.doubtnut.com/l/_90fCFPTHixbP


B. Sulphurous acid

C. Chloro sulphuric acid

D. Thionyl chloride

Answer: A

Watch Video Solution

74. The oxidation state of nitrogen is highest in

A. 

B. 

NH2OH

N3H

https://dl.doubtnut.com/l/_90fCFPTHixbP
https://dl.doubtnut.com/l/_CvJDHe8GhHxt


C. 

D. 

Answer: B

Watch Video Solution

N2H4

NH3

75. Which of the following has lowest dipole

moment?

A. 

B. 

NH3

PH3

https://dl.doubtnut.com/l/_CvJDHe8GhHxt
https://dl.doubtnut.com/l/_Rf3S0vETcZze


C. 

D. 

Answer: D

Watch Video Solution

AsH3

SbH3

76. Nitrous oxide is

A. soluble in hot water

B. soluble in cold water

C. insoluble in hot and cold water

https://dl.doubtnut.com/l/_Rf3S0vETcZze
https://dl.doubtnut.com/l/_HnhKIOSzlnHC


D. acidic in nature

Answer: B

Watch Video Solution

77. Which one of the following can be used as

an anaesthetic?

A. 

B. 

C. 

N2O

NO

NCl3

https://dl.doubtnut.com/l/_HnhKIOSzlnHC
https://dl.doubtnut.com/l/_DL7yaCUDfCJ9


D. 

Answer: A

Watch Video Solution

NO2

78. The brown ring test for  and  is

due to the formation of complex ion with

formula 

A. 

B. 

NO−
2 NO−

3

:

[Fe(H2O)6]
2 +

[Fe(NO)(CN)5]
2 +

https://dl.doubtnut.com/l/_DL7yaCUDfCJ9
https://dl.doubtnut.com/l/_rhlMn3YZ1g1c


C. 

D. 

Answer: C

Watch Video Solution

[Fe(H2O)5NO]
2 +

[Fe(H2O)(NO)5]
2 +

79. The oxyacid of phosphorus in which

phosphorus has the lowest oxidation state is

A. Metaphosphoric acid

B. Orthophosphoric acid

https://dl.doubtnut.com/l/_rhlMn3YZ1g1c
https://dl.doubtnut.com/l/_T10dMKJKW3UB


C. Pyrophosphoric acid

D. Hypophosphorous acid

Answer: D

Watch Video Solution

80. Nitrogen is chemically inert due to

A. low density

B. absence of bond polarity

C. its diatomicity

https://dl.doubtnut.com/l/_T10dMKJKW3UB
https://dl.doubtnut.com/l/_zafJt2rRyG1T


D. presence of triple bond

Answer: D

Watch Video Solution

81. Ammonia can be dried by :

A. Conc. 

B. 

C. CaO

D. Anhydrous 

H2SO4

P4O10

CaCl2

https://dl.doubtnut.com/l/_zafJt2rRyG1T
https://dl.doubtnut.com/l/_gNRAJmMtoufl


Answer: C

Watch Video Solution

82.  is not used to dry  gas because

A.  reacts with moisture in 

B.  is not a drying agent

C.  is acidic and  is basic

D.  is basic and  is acidic

Answer: C

P4O10 NH3

P4O10 NH3

P4O10

P4O10 NH3

P4O10 NH3

https://dl.doubtnut.com/l/_gNRAJmMtoufl
https://dl.doubtnut.com/l/_VGHCQuBYyyfR


Watch Video Solution

83. Brown colour in  can be removed by

A. adding Mg powder

B. boiling the acid

C. passing  through acid

D. passing air through warm acid

Answer: D

Watch Video Solution

HNO3

NH3

https://dl.doubtnut.com/l/_VGHCQuBYyyfR
https://dl.doubtnut.com/l/_pwhsaFW50Q0L


84. Aluminium phosphide (cellphos) is used as

fumigant (killing insects and pests) because in

the presence of moisture it gives

A. 

B. 

C. 

D. White phosphorus

Answer: C

Watch Video Solution

HNO3

H3PO4

PH3

https://dl.doubtnut.com/l/_lVhgscbeOBMH


85. One mole of sodium phosphide on reaction

with excess of water gives

A. one mole of phosphine

B. two moles of phosphoric acid

C. two moles of phosphine

D. one mole of phosphorus oxide

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_bcWMjWwIx9kE


86. Which one of the following arrangements of

molecules is correct on the basic of their dipole

moments?

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

NH3NF3 > BF3

NF3 > BF3 > NH3

NH3 > BF3 > NF3

BF3 > NF3 > NH3

https://dl.doubtnut.com/l/_9O4BvajIvcPl


87. In  ion, the number of bond pair and

lone pair of electrons on nitrogen atom are:

A. 4, 0

B. 1,2

C. 3,1

D. 2, 2

Answer: A

Watch Video Solution

NO−
3

https://dl.doubtnut.com/l/_2PIM3WyTRET5


88. Which is not correct for  ?

A. It is laughing gas and is used as

anaesthetic agent

B. It is nitrous oxide

C. It is not a linear molecule

D. It is least reactive of all the oxides of

nitrogen

Answer: C

Watch Video Solution

N2O

https://dl.doubtnut.com/l/_CZ2RsgA8Eq0G


89. Which of the following contains P - O- P

bond?

A. Metaphosphoric acid

B. Hypophosphorous acid

C. Pyrophosphoric acid

D. Orthophosphoric acid

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_CZ2RsgA8Eq0G
https://dl.doubtnut.com/l/_uiBMuHCwW9ei
https://dl.doubtnut.com/l/_ELPX5p8UvRzk


90. Ammonium dichromate is used in some

fireworks. The green-coloured powder blown in

the air is

A. 

B. 

C. Cr

D. 

Answer: B

Watch Video Solution

CrO3

Cr2O3

CrO(O2)

https://dl.doubtnut.com/l/_ELPX5p8UvRzk
https://dl.doubtnut.com/l/_R1QT2H66sj3X


91. Phosphine is not obtained by the reaction

A. Red P is heated with NaOH

B.  reacts with water

C. Phosphorus trioxide is boiled with water

D. White P is heated with NaOH

Answer: A

Watch Video Solution

Ca3P2

https://dl.doubtnut.com/l/_R1QT2H66sj3X


92. The deep blue colour produced on adding

excess of ammonia to copper sulphate is due to

presence of

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

Cu(NH3)
2 +
4

Cu2 +

Cu(NH3)2 +
2

Cu(NH3)2 +
6

https://dl.doubtnut.com/l/_ohRmvXJwrkxT


93. Of the following compounds the most acidic

is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

As2O3

P2O3

Sb2O3

Bi2O3

https://dl.doubtnut.com/l/_RUCE5JZvq3Kr


94. Identify the compounds X and Y in the

following reactions of Zn with  

Zn + conc.  


A.  and NO

B.  and 

C. NO and 

D.  and 

Answer: D

Watch Video Solution

HNO3

HNO3 → Zn(NO3)2 + X + H2O

Zn + dil. HNO3 → Zn(NO3)2 + Y + H2O

NO2

NO2 NO2

NO2

NO2 N2O

https://dl.doubtnut.com/l/_xyyzbSPPkYs4


95.  heated with conc.  gives

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

P2O5 HNO3

N2O5

NO2

NO

N2O

https://dl.doubtnut.com/l/_xyyzbSPPkYs4
https://dl.doubtnut.com/l/_3vE5Xy87BoeT
https://dl.doubtnut.com/l/_WdpQ1rJHRbvy


96. What may be expected to happen when

phosphine gas is mixed with chlorine gas ?

A.  and HCI are formed and the mixture

warms up

B.  and HCI are formed and the mixture

cools down

C.  is formed with warming up

D. The mixture only cools down

Answer: A

Watch Video Solution

PCl3

PCl5

PH3. Cl2

https://dl.doubtnut.com/l/_WdpQ1rJHRbvy


97. The least basic trihalide of nitrogen among

the following trihalides

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

NCl3

NBr3

NF3

NI3

https://dl.doubtnut.com/l/_WdpQ1rJHRbvy
https://dl.doubtnut.com/l/_odzeKkzbYQe8


98. The correct formula of salt formed by the

neutraliation of hypophosphorous acid with

NaOH is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

Na3PO2

Na3PO3

NaH2PO2

Na2HPO2

https://dl.doubtnut.com/l/_bPrzTTYf1bMR


99. Reaction of  with I, S, P and c gives

respectively

A.  and 

B.  and 

C.  and 

D. 

Answer: B

Watch Video Solution

HNO3

HIO3, H2SO4, H3PO3 CO2

HIO3, H2SO4, H3PO4 CO2

I2O5, H2SO4, H3PO4 CO2

I2O5, SO2, P2O5, CO2

https://dl.doubtnut.com/l/_xspcKDHASMun


100.  reacts with water to give

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

P4O6

H3PO3

H4P2O7

HPO3

H3PO4

https://dl.doubtnut.com/l/_ErDI71Y6Puna


101. Cyanamide process is used in the formation

of

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

N2

HNO3

NH3

PH3

https://dl.doubtnut.com/l/_oBCKczn6NLRO


102. Which of the following is a cyclic

phosphate?

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

H5P3O10

H6P4O13

H5P5O15

H7P5O16

https://dl.doubtnut.com/l/_SkjquCK5Y0pD


103. Which salt can be classified as an acid salt?

A. 

B. BiOCl

C. Pb(OH)Cl

D. 

Answer: D

Watch Video Solution

Na2SO4

Na2HPO4

https://dl.doubtnut.com/l/_7XFyV783bDWH


104. The cyanide ion  are

isoelectronic, but in contrast to  is

chemically inert, because of

A. Low bond energy

B. Absence of bond polarity

C. Unsymmetrical electron distribution

D. Presence of more number of electron in

bonding orbitals

Answer: D

Watch Video Solution

CN and N2

CN − , N2

https://dl.doubtnut.com/l/_dUerG80KSppq


Watch Video Solution

105. The number of hydroxyl group in

pyrophosphoric acid is

A. 3

B. 4

C. 5

D. 7

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_dUerG80KSppq
https://dl.doubtnut.com/l/_t0FGf9JcIk37


106. Laughing gas is prepared by heating

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

NH4Cl

(NH4)2SO4

NH4Cl + NaNO3

NH4NO3

107. Nitrogen is chemically inert due to

https://dl.doubtnut.com/l/_wM1zsz1uEDPz
https://dl.doubtnut.com/l/_OqttZcP3Qp3E


A. low density

B. absence of bond polarity

C. its dialomicity

D. presence of triple bond

Answer: D

Watch Video Solution

108. The triple bond between N atoms of

nitrogen molecule (N  N) consists of≡

https://dl.doubtnut.com/l/_OqttZcP3Qp3E
https://dl.doubtnut.com/l/_h6qa2rTSJ9NE


A. Three -bonds

B. Two -bonds and one -bond

C. One  -bond and two -bonds

D. Three -bonds

Answer: C

Watch Video Solution

σ

σ π

σ π

π

109. Nitrogen forms  but phosphorous when

forms  gets readily converted into 

because

N2

P2 P4

https://dl.doubtnut.com/l/_h6qa2rTSJ9NE
https://dl.doubtnut.com/l/_5DxYCVfysN0J


A.  bonding is strong in

phosphorous

B.  bonding is weak in phosphorous

C. double bond is present in phosphorous

D. single P - P bond is weaker than N - N

bond

Answer: B

Watch Video Solution

pπ − pπ

pπ − pπ

https://dl.doubtnut.com/l/_5DxYCVfysN0J


110. Number of sigma bonds in  is

A. 6

B. 7

C. 17

D. 16

Answer: D

Watch Video Solution

P4O10

https://dl.doubtnut.com/l/_MpyWI2YSerdc


111. The number and type of bonds between

two carbon atoms in calcium carbide are

A. one sigmu, one pi

B. one sigma, two pi

C. two sigma , one pi

D. two sigma , two pi

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_KH8SnJJJgMwf


112. Calomel  on reaction with

ammonium hydroxide gives

A. 

B. 

C. 

D. HgO

Answer: A

Watch Video Solution

(Hg2Cl2)

HgNH2Cl

NH2 − Hg − Hg − Cl

Hg2O

https://dl.doubtnut.com/l/_fewjPKgMM1KD


113. Phosphorus pentachloride dissociates as

follows in a closed reaction vessel. 

 


If total pressure at equilibrium of the reactions

mixture is P and degree of dissociation of 

is x, the partial pressure of  will be:

A. 

B. 

C. 

D. 

PCl5(g) ⇔ PCl3(g) + Cl2(g)

PCl5

PCl3

( )P
x

x + 1

( )P
2x

1 − x

( )P
x

x − 1

( )P
x

1 − x

https://dl.doubtnut.com/l/_uNeKYBYC3Eos


Answer: A

Watch Video Solution

114. In which of the following arrangements, the

sequence is not strictly according to the

property written against it ?

A.  :

increasing oxidising power

B. HF lt HCl lt HBr lt HI : increasing acid

strength

CO2 < SiO2 < SnO2 < PbO2

https://dl.doubtnut.com/l/_uNeKYBYC3Eos
https://dl.doubtnut.com/l/_1A0ovpWo2o1I


C.  :

increasing basic strength

D. B lt C lt O lt N : increasing first ionization

enthalpy

Answer: C

Watch Video Solution

NH3 < PH3 < AsH3 < SbH3

115. Ammonia gas can be dried by

A. Conc. H2SO4

https://dl.doubtnut.com/l/_1A0ovpWo2o1I
https://dl.doubtnut.com/l/_8NLojVksFnaL


B. 

C. 

D. Quick lime

Answer: D

Watch Video Solution

PCl5

CaCl2

116. Which of the following oxides of nitrogen is

a coloured gas ?

A. N2O

https://dl.doubtnut.com/l/_8NLojVksFnaL
https://dl.doubtnut.com/l/_Qi3otCiuqklc


B. 

C. 

D. 

Answer: D

Watch Video Solution

NO

N2O5

NO2

117. In  each P atom is linked with _____ O

atoms

A. 2

P4O10

https://dl.doubtnut.com/l/_Qi3otCiuqklc
https://dl.doubtnut.com/l/_K0OYrq4joO3O


B. 3

C. 4

D. 5

Answer: C

Watch Video Solution

118. One mole of calciium phosphide on

reaction with excess water gives

A. one mole of phosphine

https://dl.doubtnut.com/l/_K0OYrq4joO3O
https://dl.doubtnut.com/l/_Mq89HoFBW5UR


B. two moles of phosphoric acid

C. two moles of phosphine

D. one mole of phosphorous pentoxide

Answer: C

Watch Video Solution

119. Polyphosphates are used as water

softening agents because they

https://dl.doubtnut.com/l/_Mq89HoFBW5UR
https://dl.doubtnut.com/l/_J9GgTPAszNK3


A. form soluble complexes with anionic

species

B. precipitate anionic species

C. form soluble complexes with cationic

species

D. precipitate cationic species

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_J9GgTPAszNK3


120. Which is the most thermodynamically

stable allotropic form of phosphorus ?

A. Red

B. White

C. Black

D. Yellow

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_PvmE762JoZlb


121. Which blue liquid is obtained on reacting

equimolar amounts of two gases at ?

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

−30∘C

N2O

N2O3

N2O4

N2O5

https://dl.doubtnut.com/l/_Ot2WX0CyL0A7


122. The percentage of p-character in the

orbitals forming  bonds in  is

A. 25

B. 33

C. 50

D. 75

Answer: D

Watch Video Solution

p − p P4

https://dl.doubtnut.com/l/_BLjO2AlE1cBs


123. The reaction of  with X leads selectively

to  The X is :

A. dry 

B. a mixture of  and 

C. moist 

D.  in the presence of aqueous NaOH

Answer: B

Watch Video Solution

P4

P4O6

O2

O2 N2

O2

O2

https://dl.doubtnut.com/l/_LIeeWGZb0Qll


124. It is recommended that ammonia bottles

be opened after cooling in ice for sometime.

This is because

A. it has high vapour pressure

B. it comes out with brisk effervescence

C. it is a corrosive fluid

D. it vapourises at room temperature

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_lsRrhQ55xg72


125. Which of the following is a tetrabasic acid?

A. Hypophosphorous acid

B. Metaphosphoric acid

C. Pyrophosphoric acid

D. Orthophosphoric acid

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_KUNioFVXdFre


126. The number of  bonds in cyclic

metaphosphoric acid is.

A. One

B. Two

C. Three

D. Four

Answer: C

Watch Video Solution

P − O − P

https://dl.doubtnut.com/l/_IeBY1lkyAZFz


127. A translucent white waxy solid (A) reacts

with excess of chlorine to give a yellowish white

powder (B). (B) reacts with organic compounds

containing -OH group converting them into

chloro derivatives. (B) on hydrolysis gives (C)

and is finally converted to phosphoric acid. (A),

(B) and (C) are

A. 

B. 

C. 

D. 

P4, PCl5, H3PO4

P4, PCl5, H3PO3

P4, PCl5, POCl3

P4, PCl3, POCl3

https://dl.doubtnut.com/l/_jiSbtqDyPr8y


Answer: A

Watch Video Solution

128. Complete the given equations 

(i)  


(ii) 

(iii) 

A. A-NO, B- , C-  , D-

Mg + 2NHO3(dil) → Mg(NO3)2 + P

Cu + 8HNO3(dil) → 3Cu(NO3)2 + Q + 4H2O

l2 + 10HNO3(dil) → R + 10NO2 + 4H2O

2NO2 6NCl3 5HIO3

https://dl.doubtnut.com/l/_jiSbtqDyPr8y
https://dl.doubtnut.com/l/_l6Rf7zO6Fb8m


B. A-  , B-2NO , C-  , D-

C. A-  , B-  , C-  , D-HI

D. A-  , B- , C-  , D-3HI

Answer: B

Watch Video Solution

H2 6NH4Cl 2HIO3

N2 N2 NCl3

NO2 N2O 2NH4Cl

129. A colourless inorganic compound (P)

decomposes on heating to give two products

(Q) and (R). (Q) is a colourless neutral gas with

a sweet odour which when burnt with

https://dl.doubtnut.com/l/_l6Rf7zO6Fb8m
https://dl.doubtnut.com/l/_YWUp4ulFH5IH


phosphorous produces a strong dehydrating

agent (S) while (R) is a neutral liquid at room

temperature. Identify P, Q, Rand S.

Watch Video Solution

130. A gas (X) is obtained when copper reacts

with dilute . The gas thus formed reacts

with oxygen to give brown fumes of (Y). (Y)

when dissolved in water gives an important

acid (Z) and the gas (X). X, Y and Z respectively

are

HNO3

https://dl.doubtnut.com/l/_YWUp4ulFH5IH
https://dl.doubtnut.com/l/_xumxrQg5nyMI


A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

NO, NO2, HNO3

NO2, NO, HNO3

N2O, NO, HNO3

NO, N2O, HNO3

131. Fill in the blanks : 

2NO + O2


(A )

→ 2NO2
(B )

cold
−−−→

←−−−−−
heat

N2O4
(C )

https://dl.doubtnut.com/l/_xumxrQg5nyMI
https://dl.doubtnut.com/l/_OeBmzYCJthLI


A. A-Colourless , B-Brown, Paramagnetic , C-

Colourless Diamagnetic

B. A-Brown , B-Colourless Diamagnetic , C-

Brown Paramagnetic

C. A-Colourless , B-Colourless, Paramagnetic ,

C-Brown , Diamagnetic

D. A-Brown , B-Brown, Paramagnetic , C-

Brown , Diamagnetic

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_OeBmzYCJthLI


132. Brown ring test is used for detection of

which radical?

A. Ferrous

B. Nitrite

C. Nitrate

D. Ferric

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_OeBmzYCJthLI
https://dl.doubtnut.com/l/_RZVUus074Aen


133. Identify the compound in which

phosphorus exists in the oxidation state of +1.

A. Phosphonic acid 

B. Phosphinic acid 

C. Pyrophosphorus acid 

D. Orthophosphoric acid 

Answer: B

Watch Video Solution

(H3PO3)

(H3PO2)

(H4P2O5)

(H2PO4)

https://dl.doubtnut.com/l/_Vqqs883XXJIz


134. Which element among the following does

form  multiple bonds ?

A. Arsenic

B. Nitrogen

C. Phosphorus

D. Antimony

Answer: B

Watch Video Solution

pπ − pπ

https://dl.doubtnut.com/l/_Sc587DAITHnN


135. Electron affinity of sulphur is

A. more than O and Se

B. more than O but less than Se

C. less than O but more than Se

D. equal to O and Se

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_xPz1JwXihPZN


136. Which show maximum catenation property

?

A. Te

B. S

C. Se

D. O

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_KdFFEB3MieTL


137. The correct order of electron affinity of B , C

, N and O is

A. O gt B gt C gt N

B. O gt C gt B gt N

C. B gt Ngt C gt O

D. OgtCgtNgtB

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_lXvfogAgGse4


138. A group 16 element exists in monoatomic

state in the metallic lattice. It also exists in two

crystalline forms. The metal is

A. S

B. Te

C. Po

D. Se

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_pdwM64HR7Tyg


139. Atomicity of sulphur in orthorhombic ( 

sulphur) is

A. 1

B. 2

C. 8

D. 6

Answer: C

Watch Video Solution

α

https://dl.doubtnut.com/l/_ePdw5Uf0CEyE


140. Which of the following hydride is most

acidic ?

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

H2Te

H2Se

H2O

H2S

https://dl.doubtnut.com/l/_j2gNBerZ2lLD


141. Which of the following hydrides shows the

highest boiling point ?

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

H2O

H2S

H2Se

H2Te

https://dl.doubtnut.com/l/_YTLr7CoWSpIo


142. Oxyen is more eletrongative than sulphur,

yet  is acidic while  in neutral.this is

because:

A. water is highly associated compound

B. molecular mass of  is more than 

C.  is as while  is a liquid

D. H - S bond is weaker than H - O bond

Answer: D

Watch Video Solution

H2S H2O

H2S

H2O

H2S H2O

https://dl.doubtnut.com/l/_pNt6BfEHvclX


Watch Video Solution

143. The type of hybridization in water molecule

is

A. sp

B. 

C. 

D. 

Answer: C

Watch Video Solution

sp2

sp3

sp3d

https://dl.doubtnut.com/l/_pNt6BfEHvclX
https://dl.doubtnut.com/l/_AY4Kwn5u4bpF


144. S - S bond is not present in

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

S2O
2 −
4

S2O
2 −
6

S2O
2 −
3

S2O
2 −
7

145. Oleum is chemically known as

https://dl.doubtnut.com/l/_lF24xwB5Q8wP
https://dl.doubtnut.com/l/_mlWHX5507kCO


A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

H2SO3

H2SO5

H2S2O7

H2S2O8

146. S - S bond is present in

A. S2O
2 −
7

https://dl.doubtnut.com/l/_mlWHX5507kCO
https://dl.doubtnut.com/l/_LrF36GbEtBze


B. 

C. 

D. 

Answer: C

Watch Video Solution

S3O9

S2O
2 −
4

S2O
2 −
5

147. Caro's acid is

A. 

B. 

H2SO3

H3S2O5

https://dl.doubtnut.com/l/_LrF36GbEtBze
https://dl.doubtnut.com/l/_LiR4ucB1KKqC


C. 

D. 

Answer: C

Watch Video Solution

H2SO5

H2S2O8

148.  reacts with  to form

A. 

B. 

C. 

H2S O2

H2O + S

H2O + SO2

H2O + SO3

https://dl.doubtnut.com/l/_LiR4ucB1KKqC
https://dl.doubtnut.com/l/_e7BtBqcGItrG


D. 

Answer: A

Watch Video Solution

H2SO4 + S

149. Which is the best oxidising agent among

the following ?

A. Te

B. Se

C. S

https://dl.doubtnut.com/l/_e7BtBqcGItrG
https://dl.doubtnut.com/l/_l3LJL50SLCNA


D. O

Answer: D

Watch Video Solution

150. Halogens belong to group ………………. In the

modern periodic table.

A. 15

B. 16

C. 17

https://dl.doubtnut.com/l/_l3LJL50SLCNA
https://dl.doubtnut.com/l/_soHidE0qNREr


D. 18

Answer: C

Watch Video Solution

151. The hybridisation of sulphur in  is

A. 

B. 

C. 

D. 

SF4

sp3d2

sp3d

sp3

sp2d

https://dl.doubtnut.com/l/_soHidE0qNREr
https://dl.doubtnut.com/l/_vaIGfZ6imbbp


Answer: B

Watch Video Solution

152. The chemical formula of baryte, the salt of

sulphur is

A. 

B. 

C. 

D. 

CaSO4. 2H2O

MgSO4. 7H2O

BaSO4

CuFeS2

https://dl.doubtnut.com/l/_vaIGfZ6imbbp
https://dl.doubtnut.com/l/_4C7gWoMuNuln


Answer: C

Watch Video Solution

153. Among the group 16 elements the only

element which does not exist as octa-atomic

solid is

A. Sulphur

B. Selenium

C. Oxygen

D. Tellurium

https://dl.doubtnut.com/l/_4C7gWoMuNuln
https://dl.doubtnut.com/l/_QmC7pmwf6mVu


Answer: C

Watch Video Solution

154. Sulphurous acid is reducing agent due to

A. absence of hydrogen bonding

B. presence of lone pair of electrons of

sulphur

C. absence of bonding between oxygen

atoms

https://dl.doubtnut.com/l/_QmC7pmwf6mVu
https://dl.doubtnut.com/l/_n2xCFO8r6nbQ


D. presence of only three oxygen atoms

Answer: B

Watch Video Solution

155. Peroxodisulphuric acid is known as

A. Caro's acid

B. Marshall's acid

C. Sulphurous acid

D. Dithionic acid

https://dl.doubtnut.com/l/_n2xCFO8r6nbQ
https://dl.doubtnut.com/l/_RkfQi1zY21zM


Answer: B

Watch Video Solution

156. When  is heated we get

A. 

B. 

C. 

D. 

Answer: A

KClO3

KCl + O2

KClO2 + O2

KCl + O3

KCl + O2 + O3

https://dl.doubtnut.com/l/_RkfQi1zY21zM
https://dl.doubtnut.com/l/_gcfiBQm8oVzT


Watch Video Solution

157. Which is the characteristic of oxygen

molecule ?

A. diamagnetic with no-unpaired electron

B. diamagnetic with two unpaired electrons

C. paramagnetic with two unpaired

electrons

D. paramagnetic with no unpaired electrons

Answer: C

https://dl.doubtnut.com/l/_gcfiBQm8oVzT
https://dl.doubtnut.com/l/_xIfpgTiZ7BJq


Watch Video Solution

158. Which is most acidic in nature?

A. 

B. 

C. 

D. CaO

Answer: B

Watch Video Solution

Na2O

NO2

Al2O3

https://dl.doubtnut.com/l/_xIfpgTiZ7BJq
https://dl.doubtnut.com/l/_hTDmIVqDa47o


159. Which of the following oxides reacts with

both HCl and NaOH?

A. CaO

B. ZnO

C. 

D. 

Answer: B

Watch Video Solution

N2O5

CO2

https://dl.doubtnut.com/l/_vDujZQXbvZm3


160. Which of the following is formed by the

action of water on sodium peroxide ?

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

H2

N2

O2

CO2

https://dl.doubtnut.com/l/_xoXi5kwVWMCo


161. Which one of the following reacts with

conc. ?

A. Au

B. Ag

C. Pt

D. Pb

Answer: B

Watch Video Solution

H2SO4

https://dl.doubtnut.com/l/_OuM2VZ8NlK9K


162. Oxalic acid reacts with con.  to

produce

A. 

B. 

C. NO

D. 

Answer: B

Watch Video Solution

H2SO4

SO2

CO2

NO2

https://dl.doubtnut.com/l/_GHaPEWEJtlLF


163. How many dative bonds are there in

 molecule?

A. 0

B. 1

C. 2

D. 4

Answer: A

Watch Video Solution

H2SO4

https://dl.doubtnut.com/l/_sbLANfVlcGvN


164. The oxidation number of sulphur in iron

pyrites is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

−1

+2

−2

+3

https://dl.doubtnut.com/l/_42DbrFJnArLz


165. When  is passed through bromine

water products formed are

A. 

B.  and HBr

C. S and 

D. HBr and S

Answer: A

Watch Video Solution

SO2

H2SO4 + HBr

H2O

H2O

https://dl.doubtnut.com/l/_9GC1sfNxrn38


166. Which of the following behaves as both

oxidising and reducing agents ?

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

H2SO4

SO2

H2S

HNO3

https://dl.doubtnut.com/l/_4TIFbD5mef9m


167. The compound of sulphur that can be used

as refrigerant is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

SO2

SO3

S2Cl2

H2SO4

https://dl.doubtnut.com/l/_ysDAGMGpNZfA


168. Which of the following is responsible for

cough and choking in human ?

A. Sulphur

B. Carbon

C. Nitrogen dioxide

D. Sulphur dioxide

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_tmh5XfNqPcm3


169. Which of the following is 'V' shaped?

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

BeCl2

SO2

CO2

CH ≡ CH

170. Bleaching action of  is due to itsSO2

https://dl.doubtnut.com/l/_Z08EOHffMqRK
https://dl.doubtnut.com/l/_aA32qGfKp9SO


A. oxidation

B. acidic nature

C. reduction

D. basic nature

Answer: C

Watch Video Solution

171. What product is formed when  gas is

passed through acidified  solution ?

H2S

KMnO4

https://dl.doubtnut.com/l/_aA32qGfKp9SO
https://dl.doubtnut.com/l/_wBwDkbzngziv


A. S

B. 

C. 

D. 

Answer: A

Watch Video Solution

K2S

K2SO3

MnO2

172. In group 16 the photosensitive elements

are

https://dl.doubtnut.com/l/_wBwDkbzngziv
https://dl.doubtnut.com/l/_5YbX3njSmq10


A. Oxygen and Sulphur

B. Oxygen and Tellurium

C. Selenium and Tellurium

D. Sulphur and Selenium

Answer: C

Watch Video Solution

173. Peroxodisulphuric acid is known as

A. Caro's acid

https://dl.doubtnut.com/l/_5YbX3njSmq10
https://dl.doubtnut.com/l/_vTNm2a65JlnL


B. Marshall's acid

C. Sulphurous acid

D. Dithionic acid

Answer: B

Watch Video Solution

174. In the laboratory method of preparation of

dioxygen by thermal decomposition of

potassium chlorate the catalyst used is

https://dl.doubtnut.com/l/_vTNm2a65JlnL
https://dl.doubtnut.com/l/_Wrb4LIbcxNbb


A. Iron fillings

B. Manganese dioxide

C. Platinum

D. Copper chloride

Answer: B

Watch Video Solution

175. High boiling point of water is due to :

A. small size

https://dl.doubtnut.com/l/_Wrb4LIbcxNbb
https://dl.doubtnut.com/l/_CaCanBgAtQ0O


B. presence of lone pair of electron on

oxygen

C. strong intermolecular hydrogen bonding

D. presence of Vander Waal's forces

Answer: C

Watch Video Solution

176. The oxidation number of sulphur in

 is .Na2S4O6

https://dl.doubtnut.com/l/_CaCanBgAtQ0O
https://dl.doubtnut.com/l/_GqHQxvmjJE2V


A. 

B. 

C. 

D. 2.5

Answer: D

Watch Video Solution

2

3

1.5

3

5

177. When potassium ferrocyanide crystals are

heated with concentrated sulphuric acid, the

gas evolved is

https://dl.doubtnut.com/l/_GqHQxvmjJE2V
https://dl.doubtnut.com/l/_IfjE8uJUB1kV


A. 

B. 

C. 

D. CO

Answer: D

Watch Video Solution

SO2

NH3

CO2

178. Iron sulphide is heated in air to form , an

oxide of sulphur.  is dissolved in water to give

an acid. The basicity of this acid is :

A

A

https://dl.doubtnut.com/l/_IfjE8uJUB1kV
https://dl.doubtnut.com/l/_qkHc4bwkS3dV


A. 2

B. 3

C. 1

D. zero

Answer: A

Watch Video Solution

179. When  gas is passed through an

acidified solution of , the solution

turns ___ in colour.

SO2

K2Cr2O7

https://dl.doubtnut.com/l/_qkHc4bwkS3dV
https://dl.doubtnut.com/l/_6nRlidJapDhY


A. the solution becomes blue

B. the solution becomes colourless

C.  is reduced

D. green  is formed

Answer: D

Watch Video Solution

SO2

Cr2(SO4)3

180.  solution on reaction with 

changes to?

Fecl3 SO2

https://dl.doubtnut.com/l/_6nRlidJapDhY
https://dl.doubtnut.com/l/_6ItkuTRT6TMF


A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

FeSO4

Fe2(SO4)3

Fe(SO3)3

FeCl2

181. A considerable part of the harmful

ultraviolet radiation of the sun does not reach

https://dl.doubtnut.com/l/_6ItkuTRT6TMF
https://dl.doubtnut.com/l/_41f3BNRdhsrJ


the surface of earth. This is because in the

upper atmosphere, there is a layer of

A. Ozone

B. Hydrogen

C. 

D. Ammonia

Answer: A

Watch Video Solution

CO2

https://dl.doubtnut.com/l/_41f3BNRdhsrJ


182. Concentrated  cannot be used to

prepare HBr from NaBr , because it ,

A. oxidizes HBr

B. reduces HBr

C. causes disproprotionation of HBr

D. reacts too slowly with KBr

Answer: A

Watch Video Solution

H2SO4

https://dl.doubtnut.com/l/_BIa7mEye6kAx


183. Which characteristic is not correct about

?

A. Reducing agent

B. Oxidising agent

C. Sulphonating agent

D. Highly viscous

Answer: A

Watch Video Solution

H2SO4

https://dl.doubtnut.com/l/_rCe4qb2dONCu


184. Which of the following metal liberates

hydrogen when treated with dilute  ?

A. Mg

B. Cu

C. Ag

D. Au

Answer: A

Watch Video Solution

H2SO4

https://dl.doubtnut.com/l/_mFOVoCLxZWVC


185. Product obtained on heating  with

conc.  is/are

A. Chlorine dioxide

B. 

C. 

D. All

Answer: D

Watch Video Solution

KClO3

H2SO4

HClO4

KHSO4

https://dl.doubtnut.com/l/_cGO0Eg4RUgDa


186. When  is treated with concentrated 

 reddish brown gas is evolved, the gas is

A. 

B. 

C. 

D. None of these

Answer: A

Watch Video Solution

KBr

H2SO4

Br2

Br2 + HBr

HBr

https://dl.doubtnut.com/l/_5tpIlOxCxoCq


187. Which oxide is of different type than

others?

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

MnO2

PbO2

TiO2

Na2O2

https://dl.doubtnut.com/l/_DDakHRRTzngG


188. Hydrogen sulphide reacts with lead acetate

forming a black compound which reacts with

 to form another compound. The colour

of the compound is

A. Black

B. Yellow

C. White

D. Pink

Answer: C

Watch Video Solution

H2O2

https://dl.doubtnut.com/l/_8k9Xg8MzKVtw


189. Oxygen gas can be prepared from solid

 by

A. strongly heating the solid

B. dissolving the solid in dil.

C. dissolving solid in dil. HCl

D. treating the solid with  gas

Answer: A

Watch Video Solution

KMnO4

H2SO4

H2

https://dl.doubtnut.com/l/_8k9Xg8MzKVtw
https://dl.doubtnut.com/l/_vPbNv17qmX0e


190. In the upper layers of atmosphere, ozone is

formed.

A. action of ultraviolet rays on oxygen

B. action of electric discharge on oxygen

molecules

C. combination of oxygen molecules

D. none

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_ufv16E6cvlgk


191. On passing  in solution of  , it

turn green due to the formation of

A. 

B. Chromic acid

C. 

D. 

Answer: C

Watch Video Solution

SO2 K2Cr2O7

K2Cr2O4

Cr2(SO4)3

FeSO4

https://dl.doubtnut.com/l/_bugYUThbfA0J


192. Which one of the following is an

amphoteric oxide?

A. 

B. 

C. 

D. ZnO

Answer: D

Watch Video Solution

Na2O

SO2

B2O3

https://dl.doubtnut.com/l/_XGDhvXeIXz08


193.  is used in oxygen cylinders in space

and submarines because it

A. absorbs  and increases  content

B. eliminates moisture

C. absorbs 

D. produces ozone

Answer: B

Watch Video Solution

KO2

CO2 O2

CO2

https://dl.doubtnut.com/l/_DJfnSaEc8az8


194. The equivalent weight of sulphur in 

is

A. 16

B. 32

C. 64

D. 8

Answer: B

Watch Video Solution

S2Cl2

https://dl.doubtnut.com/l/_ssw55VG5PLRH


195. All the elements of oxygen family are

A. Non metals

B. Metalloids

C. Radioactive

D. Polymorphic

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_AB0NMe2phdJV


196. Which of the following hydeides has the

lowest boiling point?

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

H2O

H2S

H2Se

H2Te

https://dl.doubtnut.com/l/_7IXp4RHhocSS


197. What is the hybridization of S in  ?

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

SF6

sp3d2

sp3d

sp3d3

sp3

https://dl.doubtnut.com/l/_06esWrCqFiSI


198. In , the number of bond pairs and lone

pairs of electrons are respectively,

A. 2, 8

B. 2, 6

C. 2,9

D. 2, 10

Answer: A

Watch Video Solution

OF2

https://dl.doubtnut.com/l/_4YxknCr5o74I


199. Peroxomonosulphuric acid is known as

A. Marshall's acid

B. Caro's acid

C. Sulphuric acid

D. None of these

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_c5aKiMER5stJ


200. Which of the following ions does not have

S-S linkage ?

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

S2O
2 −
8

S2O
2 −
6

S2O
2 −
4

S2O
2 −
3

https://dl.doubtnut.com/l/_M2iZ3aURuEu4


201. Hydrides of oxygen and sulphur differ in

physical state due to

A. presence of intermolecular hydrogen

bonding in the hydrides of oxygen

B. more electronegativity of oxygen

C. stronger S- S bonds compared to O-O

bonds

D. repulsion of lone pair of electrons on

oxygen atoms

https://dl.doubtnut.com/l/_OMMEA2nyJaCt


Answer: A

Watch Video Solution

202. In  (O-O) the number of electrons which

are paired is

A. 14

B. 16

C. 8

D. 7

O2

https://dl.doubtnut.com/l/_OMMEA2nyJaCt
https://dl.doubtnut.com/l/_xoq0YwRBXqC4


Answer: A

Watch Video Solution

203.  on treatment with sulphuric acid

gives

A. Thionyl chloride

B. Sulphur monochloride

C. Sulphuryl chloride

D. Sulphur tetrachloride

PCl5

https://dl.doubtnut.com/l/_xoq0YwRBXqC4
https://dl.doubtnut.com/l/_sPEcw0fSSMqZ


Answer: C

Watch Video Solution

204. What is the number of sigma  and pi 

 bonds present in sulphuric acid molecule ?

A. 

B. 

C. 

D. 

(σ)

(π)

6σ, 2π

6σ, 0π

2σ, 2π

2σ, 2π

https://dl.doubtnut.com/l/_sPEcw0fSSMqZ
https://dl.doubtnut.com/l/_Jszu6gUqGgWH


Answer: A

Watch Video Solution

205.  can be obtained from which of the

following reaction?

A. Reaction with dil.  with 

B. Hydrolysis of dil. 

C. Reaction of conc.  with Cu

D. None

SO2

H2SO4 O2

H2SO4

H2SO4

https://dl.doubtnut.com/l/_Jszu6gUqGgWH
https://dl.doubtnut.com/l/_E118GN7sck80


Answer: C

Watch Video Solution

206. The compound formed when Mercury

comes in contact with ozone is

A. HgO

B. 

C. 

D. 

Hg2O

H2O

HgO3

https://dl.doubtnut.com/l/_E118GN7sck80
https://dl.doubtnut.com/l/_T8IYaircSnn4


Answer: B

Watch Video Solution

207. The shape of all tetrafluorides of group 16

is

A. Pyramidal

B. Linear

C. Trigonal bipyramidal

D. Tetrahedral

https://dl.doubtnut.com/l/_T8IYaircSnn4
https://dl.doubtnut.com/l/_ghJWdOrlAR2p


Answer: C

Watch Video Solution

208. The only element in group 16 whose

hydride is colourless liquid is

A. Sulphur

B. Selenium

C. Oxygen

D. Tellerium

https://dl.doubtnut.com/l/_ghJWdOrlAR2p
https://dl.doubtnut.com/l/_SBneGOCshivP


Answer: C

Watch Video Solution

209. Which of the following does not exhibit

- hybridisation ?

A. 

B. 

C. 

D. 

sp3

SO2

CH4

NH3

SO
2 −
4

https://dl.doubtnut.com/l/_SBneGOCshivP
https://dl.doubtnut.com/l/_aiEjpdVxUPxN


Answer: A

Watch Video Solution

210. Draw structure of  and also find

numbers of lone pairs in  :-

Watch Video Solution

N2O5

N2O5

211. Oxygen does not show positive oxidation

state (except on  and ) due toO2F2 OF2

https://dl.doubtnut.com/l/_aiEjpdVxUPxN
https://dl.doubtnut.com/l/_YdL4czUViQlZ
https://dl.doubtnut.com/l/_B5TsKNbetjrJ


A. presence of unpaired electrons

B. High electronegativity

C. small size

D. inert pair effect

Answer: B

Watch Video Solution

212. Numbers of lone pairs present in ozone

molecule is :-

https://dl.doubtnut.com/l/_B5TsKNbetjrJ
https://dl.doubtnut.com/l/_q5aCZqQHkzJ9


A. 4

B. 5

C. 6

D. 12

Answer: C

Watch Video Solution

213. Ozone is considered to be

A. a resonance hybrid of oxygen

https://dl.doubtnut.com/l/_q5aCZqQHkzJ9
https://dl.doubtnut.com/l/_JbBoFpRmmy1v


B. an isomer of oxygen

C. an oxide of oxygen

D. an allotropic modification of oxygen

Answer: D

Watch Video Solution

214. When sugar is treated with conc. sulphuric

acid, the sugar is charred. In this process, sugar

is

https://dl.doubtnut.com/l/_JbBoFpRmmy1v
https://dl.doubtnut.com/l/_fuyOHbiZ1TAe


A. reduced

B. oxidised

C. sulphonated

D. dehydrated

Answer: D

Watch Video Solution

215. Which of the following is the best scientific

method to test the presence of water in liquid ?

https://dl.doubtnut.com/l/_fuyOHbiZ1TAe
https://dl.doubtnut.com/l/_ROXB6ryDzpbE


A. Taste

B. Smell

C. Use oflitmus paper

D. Use of anhydrous 

Answer: D

Watch Video Solution

CuSO4

216. Which of the following mixture is chromic

acid?

https://dl.doubtnut.com/l/_ROXB6ryDzpbE
https://dl.doubtnut.com/l/_krwNfwhqTlph


A.  and conc.

B.  and HCl

C.  and conc. 

D.  and HCl

Answer: A

Watch Video Solution

K2Cr2O7 H2SO4

K2Cr2O7

K2SO3 H2SO4

H2SO4

217. Sulphuric acid reacts with  to give

A. Thionyl chloride

PCl5

https://dl.doubtnut.com/l/_krwNfwhqTlph
https://dl.doubtnut.com/l/_zM8FUStDkX87


B. Sulphur monochloride

C. Sulphuryl chloride

D. Sulphur ultrachloride

Answer: C

Watch Video Solution

218. Ozone depleton due to the fomation of

following compound in Antarctica

A. Acrolien

https://dl.doubtnut.com/l/_zM8FUStDkX87
https://dl.doubtnut.com/l/_skH9oAf3L84E


B. Peroxy acetyl nitrate

C.  and 

D. Chlorine nitrate

Answer: D

Watch Video Solution

SO2 SO3

219. Sulphur in  oxidation state is present in

A. Sulphurous acid

B. Pyrosulphuric acid

+3

https://dl.doubtnut.com/l/_skH9oAf3L84E
https://dl.doubtnut.com/l/_YxkubhL62utO


C. Dithionous acid

D. Thiosulphuric acid

Answer: C

Watch Video Solution

220. Which one of the following is an oxyacid ?

A. 

B. 

C. 

Ba(OH)2

Mg(OH)2

H3PO3

https://dl.doubtnut.com/l/_YxkubhL62utO
https://dl.doubtnut.com/l/_SkZ8BSAmJ3OB


D. HCl

Answer: C

Watch Video Solution

221. The hybridisation of sulphur in  is

A. 

B. 

C. 

D. 

SF6

sp3d2

sp3d

sp3

sp2d

https://dl.doubtnut.com/l/_SkZ8BSAmJ3OB
https://dl.doubtnut.com/l/_fLTXzZjGUymF


Answer: A

Watch Video Solution

222. The strongest acid among the following is

A. concentrated 

B. concentrated 

C. concentrated HCI

D. solid oxalic acid

Answer: A

H2SO4

H3PO4

https://dl.doubtnut.com/l/_fLTXzZjGUymF
https://dl.doubtnut.com/l/_tLMJEocvdaH1


Watch Video Solution

223. Which is the electronic configuration of

the outermost shell of group 16 elements?

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

ns2np2

ns2(n − 1)d2

ns2(n − 1)d4

ns2np4

https://dl.doubtnut.com/l/_tLMJEocvdaH1
https://dl.doubtnut.com/l/_4wrqxXg5D41X


224. Caro's acid is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

H2SO3

H3S2O5

H2SO5

H2S2O8

https://dl.doubtnut.com/l/_4wrqxXg5D41X
https://dl.doubtnut.com/l/_Qp8WCIttgVje
https://dl.doubtnut.com/l/_IOUDsy2yWDJ9


225. An amorphous solid (X) burns in air to

form a gas ( Y) which turns lime water milky.

This gas decolourises aqueous solution of

acidified  Gas (Y) reacts with oxygen

to give another gas (Z) which is responsible for

acid rain. X, Y and Z are

A. X-C, Y-CO, Z-

B. X-S, Y-  , Z-

C. X-P , Y-  ,Z - 

D. X-S , Y-  ,Z-

Answer: B

KMnO4.

CO2

SO2 SO3

P2O3 P2O5

SO3 H2SO4

https://dl.doubtnut.com/l/_IOUDsy2yWDJ9


Watch Video Solution

226. Among  and  the

correct order of acid strength is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

Al2O, SiO2, P2O3 So2

SO2 < P2O3 < SiO2 < Al2O3

Al2O3 < SiO2 < P2O3 < SO2

Al2O3 < SiO2 < SO2 < P2O3

SiO2 < SO2 < Al2O3 < P2O3

https://dl.doubtnut.com/l/_IOUDsy2yWDJ9
https://dl.doubtnut.com/l/_O7nAxi7eDmvZ


227. The states of hybridisation of boron and

oxygen atoms in boric acid  are

respecitivelty :

A.  and 

B.  and 

C.  and 

D.  and 

Answer: D

Watch Video Solution

(H3BO3)

sp2 sp2

sp3 sp3

sp3 sp2

sp2 sp3

https://dl.doubtnut.com/l/_O7nAxi7eDmvZ
https://dl.doubtnut.com/l/_ohDXMfVFpbks


Watch Video Solution

228. The compound which gives oxygen on

moderate heating is

A. Cupric oxide

B. Mercuric oxide

C. Zinc oxide

D. Aluminium oxide

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_ohDXMfVFpbks
https://dl.doubtnut.com/l/_JAEhVm0ZSjoN


229. There is no  bond in

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

S − S

S2O
2 −
4

S2O
2 −
5

S2O
2 −
3

S2O
2 −
7

https://dl.doubtnut.com/l/_JAEhVm0ZSjoN
https://dl.doubtnut.com/l/_8ZmciDHk5phZ


230. Hydrolysis of one mole of

peroxodisulphuric acid produces

A. two moles of sulphuric acid

B. two moles of peroxomonosulphuric acid

C. one mole of sulphuric acid and one mole

of peroxomonosulphuric acid

D. one mole of sulphuric acid and one mole

of peroxomonosulphuric acid and one

mole of hydrogen peroxide

https://dl.doubtnut.com/l/_Yg5JnBeKytGM


Answer: C

Watch Video Solution

231. Which one of the following oxides is

neutral ?
A) 
B) 
C) 
D)

A. CO

B. 

C. ZnO

D. 

CO SnO2 ZnO SiO2

SnO2

SiO2

https://dl.doubtnut.com/l/_Yg5JnBeKytGM
https://dl.doubtnut.com/l/_xyPBHcGPrI0j


Answer: A

Watch Video Solution

232. Fill in the blanks. 

Conc.  chars paper, wood and sugar by

removing _________ from them. It is also known

as _________. It is manufactured by ______ process.

It is a strong __ and __ acid.

Watch Video Solution

H2SO4

https://dl.doubtnut.com/l/_xyPBHcGPrI0j
https://dl.doubtnut.com/l/_fjR15nJdCruy


233. Which is the most stable allotrope of

sulphur ?

A. Octahedral sulphur

B. Monoclinic sulphur

C. Plastic sulphur

D. Colloidal sulphur

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_AVZt7vvRIHNh


234. The element that does not form acidic

oxide is

A. Carbon

B. Phosphorus

C. Chlorine

D. Barium

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_rV7RkI8639Mh


235. Which among the following compounds

does not act as reducing agent ?

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

H2O

H2S

H2Se

H2Te

https://dl.doubtnut.com/l/_kZ1mW0SGVSnY


236. In preparation of sulphuric acid from

sulphur dioxide in lead chamber process. What

substance is used as a catalyst?

A. Manganese dioxide

B. Vanadium pentoxide

C. Nitric oxide

D. Raney Nickel

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_6dZSGKOXs3ID


237. Group 17 elements are known as

A. Halogen

B. Noble gas

C. Transition element

D. Metalloids

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_9TEWRRnQgedh


238. The number of np-electrons in the outer

shell of elements of group 17 is

A. Five

B. Three

C. Four

D. Seven

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_890rC4BaXmps


239. Which of the following sets of element is

known as halogens ?

A. Li, Na, K

B. F, Cl, Br

C. He, Ne, Ar

D. Cu, Ag, Au

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_I8oDuAtLKUGk


240. In Greek the word halo means

A. Salt

B. Sugar

C. Soluble

D. Sublime

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_oV608BUxtCTq


241. Among the following halogens the

radioactive halogen is

A. F

B. Cl

C. Br

D. At

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_5Ikg4ZeQxprw


242. The general electronic configuration of

halogen family is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

ns2np5

ns2np6

ns2np4

ns2np3

https://dl.doubtnut.com/l/_lax9SI9q2nYC


243. The electronic structure of four elements

 are 


(a)  (b)  


( c)  (d)  


The tendency to form electrovalent bond is

largest in

A. D

B. C

C. B

D. A

A, B, C, D

1s2 1s2, 2s2, 2p2

1s2, 2s2, 2p5 1s2, 2s22p6

https://dl.doubtnut.com/l/_98OQzlpsgXft


Answer: B

Watch Video Solution

244. Nucleus of an element contains 9 protons

Its valency would be :

A. 1

B. 2

C. 3

D. 5

https://dl.doubtnut.com/l/_98OQzlpsgXft
https://dl.doubtnut.com/l/_TWlnPn3gprtL


Answer: A

Watch Video Solution

245. The element having electronic

configuration 

 is

A. F

B. Cl

C. Br

D. At

[Xe]4f 145d106s26p5

https://dl.doubtnut.com/l/_TWlnPn3gprtL
https://dl.doubtnut.com/l/_6elWpRTI7wMH


Answer: D

Watch Video Solution

246. The number of half filled orbitals in the

valence shell of halogens is

A. One

B. Two

C. Three

D. Zero

https://dl.doubtnut.com/l/_6elWpRTI7wMH
https://dl.doubtnut.com/l/_Z37eMIeHWcmX


Answer: A

Watch Video Solution

247. The halogen having five vacant orbitals in

the outermost shell belongs to

A. 3rd period

B. 4th period

C. 2nd period

D. 5th period

https://dl.doubtnut.com/l/_Z37eMIeHWcmX
https://dl.doubtnut.com/l/_4DaTneKAJIdk


Answer: A

Watch Video Solution

248. Which halogen cannot show oxidation

state more than zero ?

A. Chlorine

B. Fluorine

C. Iodine

D. Bromine

https://dl.doubtnut.com/l/_4DaTneKAJIdk
https://dl.doubtnut.com/l/_wy5BA13RaZqO


Answer: B

Watch Video Solution

249. Fluorine is highly reactive due to

A. its high electronegativity

B. smallest size of its atoms

C. low bond dissociation energy

D. non-availability of d-orbitals

Answer: C

https://dl.doubtnut.com/l/_wy5BA13RaZqO
https://dl.doubtnut.com/l/_pHBjLUx1n4ap


Watch Video Solution

250. Halogen molecules are

A. diatomic and form  ions

B. diatomic and form  ions

C. monoatomic and form  ions

D. monoatomic and form  ions

Answer: B

Watch Video Solution

X2 −
2

X −

X2 −
2

X −

https://dl.doubtnut.com/l/_pHBjLUx1n4ap
https://dl.doubtnut.com/l/_v9j8Gar22lam


251. Which oxidation state is not shown by

chlorine ?

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

+7

+3

+8

+4

https://dl.doubtnut.com/l/_uRaOicPuXNS5


252. The oxidation state of iodine in NaOI is

A. 

B. 

C. 

D. 0

Answer: A

Watch Video Solution

+1

+2

−1

https://dl.doubtnut.com/l/_UtFLcdyllKEC


253. Which of the following halogen exists in

the solid state?

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

F2

Cl2

Br2

I2

https://dl.doubtnut.com/l/_1XfKbjGZs5WC


254. Which of the following is known as super

halogen and why?

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

Cl2

Br2

F2

I2

https://dl.doubtnut.com/l/_4bfw9HAadRiG


255. seaweed contains iodine upto

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

0.5 %

6 %

0.60 %

0.05 %

256. The formula of carnallite is

https://dl.doubtnut.com/l/_L1BMy4JIrLjk
https://dl.doubtnut.com/l/_Frlqgbnmcik5


A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

KCl, MgCl2. 6H2O

AgCl, MgBr2. 7H2O

NaCl, MgCl2. 5H2O

FeSO4, (NH4)2SO4. 7H2O

257. Fluorine is present in a small quantities in

A. Kidney

https://dl.doubtnut.com/l/_Frlqgbnmcik5
https://dl.doubtnut.com/l/_0sYEBu0mj82S


B. Heart

C. Bones and teeth

D. Liver

Answer: C

Watch Video Solution

258. Which of the following do not contain

fluorine ?

A. Fluorspar

https://dl.doubtnut.com/l/_0sYEBu0mj82S
https://dl.doubtnut.com/l/_N3KtxIISN5IQ


B. Cryolite

C. Fluorapatite

D. Carnallite

Answer: D

Watch Video Solution

259. The halogen in the gaseous state is

A. 

B. 

Br2

I2

https://dl.doubtnut.com/l/_N3KtxIISN5IQ
https://dl.doubtnut.com/l/_VYSUq53p9egm


C. 

D.  and 

Answer: D

Watch Video Solution

Cl2

F2 Cl2

260. Which of the following pairs represents 1st

and 2nd most electronegative elements of the

periodic table respectively ?

A. Cl, F

https://dl.doubtnut.com/l/_VYSUq53p9egm
https://dl.doubtnut.com/l/_YFx7GabzjeWM


B. F, Cl

C. F, O

D. F, S

Answer: C

Watch Video Solution

261. Which of the following has highest boiling

point ?

A. F2

https://dl.doubtnut.com/l/_YFx7GabzjeWM
https://dl.doubtnut.com/l/_aHTwjoIn9EZE


B. 

C. 

D. 

Answer: B

Watch Video Solution

I2

Cl2

Br2

262. Which of the following halides is not

oxidised by  ?

A. 

Mno2

Cl−

https://dl.doubtnut.com/l/_aHTwjoIn9EZE
https://dl.doubtnut.com/l/_e468uHFTAa8j


B. 

C. 

D. 

Answer: C

Watch Video Solution

Br−

F −

I −

263. Which halogen exist as dark red liquid at

ordinary temperature ?

A. Br2

https://dl.doubtnut.com/l/_e468uHFTAa8j
https://dl.doubtnut.com/l/_0DMOPA9dCEwc


B. 

C. 

D. 

Answer: A

Watch Video Solution

Cl2

I2

At2

264. For the reaction

 the value of 

is highest

X2(aq) + 2e− → 2X − (aq) E ∘
red

https://dl.doubtnut.com/l/_0DMOPA9dCEwc
https://dl.doubtnut.com/l/_gHQu4DeIOvn9


A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

F2

Cl2

Br2

I2

265. The halogen acid which produces the

weakest conjugate base is

https://dl.doubtnut.com/l/_gHQu4DeIOvn9
https://dl.doubtnut.com/l/_5l3PvYt2BHUh


A. HI

B. HCI

C. HBr

D. HF

Answer: A

Watch Video Solution

266. Which halogen acid is most volatile?

A. HF

https://dl.doubtnut.com/l/_5l3PvYt2BHUh
https://dl.doubtnut.com/l/_5UmzzmhfYp7Y


B. HCl

C. HI

D. HBr

Answer: B

Watch Video Solution

267. Which halogen has atomicity greater than

2 ?

A. Br2

https://dl.doubtnut.com/l/_5UmzzmhfYp7Y
https://dl.doubtnut.com/l/_wnCXfh0wr6Aq


B. 

C. 

D. None of these

Answer: D

Watch Video Solution

Cl2

I2

268. Two gases X and Y bring about bleaching

of flowers. X bleaches due to oxidation of dye

while Y bleaches by reducing the colouring

matter. X and Y are respectively

https://dl.doubtnut.com/l/_wnCXfh0wr6Aq
https://dl.doubtnut.com/l/_e940nlIuc3H7


A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

SO2, Cl2

Cl2, SO2

O2, SO2

H2O, SO2

269. Which one is the best reducing agent ?

A. F −

https://dl.doubtnut.com/l/_e940nlIuc3H7
https://dl.doubtnut.com/l/_45Cqi2useWBF


B. 

C. 

D. 

Answer: C

Watch Video Solution

Cl−

I −

Br−

270. Which halogen shows some metallic

character ?

A. F2

https://dl.doubtnut.com/l/_45Cqi2useWBF
https://dl.doubtnut.com/l/_bClQXwuO3TFM


B. 

C. 

D. 

Answer: C

Watch Video Solution

Br2

I2

Cl2

271. Which of the following shows greatest

mert pair effect ?

A. F2

https://dl.doubtnut.com/l/_bClQXwuO3TFM
https://dl.doubtnut.com/l/_AGI6Z3eE0PNg


B. 

C. 

D. 

Answer: D

Watch Video Solution

Cl2

Br2

I2

272. Which of the following halogens has the

highest melting point ?

A. F2

https://dl.doubtnut.com/l/_AGI6Z3eE0PNg
https://dl.doubtnut.com/l/_W9wOl7uLzysw


B. 

C. 

D. 

Answer: D

Watch Video Solution

Cl2

Br2

I2

273. The susbtance that sublimes on heating is

A. 

B. 

F2

Cl2

https://dl.doubtnut.com/l/_W9wOl7uLzysw
https://dl.doubtnut.com/l/_U8COKxmJu5Im


C. 

D. 

Answer: D

Watch Video Solution

Br2

I2

274. The law of triad is applicable to a group of

a) 
b)C,N,O
c) 
d)

A. C,N,O

B. Cl,Br, I

Cl, Br, I Na, K, Rb H, O, N

https://dl.doubtnut.com/l/_U8COKxmJu5Im
https://dl.doubtnut.com/l/_NrNZe3FNcymf


C. Na,K,Rb

D. None of these

Answer: B

Watch Video Solution

275. The halogen-halogen bond length is

longest for

A. 

B. 

F2

Cl2

https://dl.doubtnut.com/l/_NrNZe3FNcymf
https://dl.doubtnut.com/l/_FHGOYFHJt0of


C. 

D. 

Answer: D

Watch Video Solution

Br2

I2

276. Which element would readily replace

oxygen from an oxide ?

A. Fluorine

B. Chlorine

https://dl.doubtnut.com/l/_FHGOYFHJt0of
https://dl.doubtnut.com/l/_62xGqS7tpa9V


C. Nitrogen

D. Sulphur

Answer: A

Watch Video Solution

277. Which of the following halic acid and

maximum oxidising strength?

A. 

B. 

HClO3

HClO

https://dl.doubtnut.com/l/_62xGqS7tpa9V
https://dl.doubtnut.com/l/_FdFlrZFT4hg9


C. 

D. 

Answer: C

Watch Video Solution

HClO4

HClO2

278. Which one of the following is a

pseudohalide ?

A. 

B. 

SCN −

ICl−
2

https://dl.doubtnut.com/l/_FdFlrZFT4hg9
https://dl.doubtnut.com/l/_bfmsy5lmzB8h


C. 

D. 

Answer: B

Watch Video Solution

OSN −

CN −

279. Among hypohalous acid the acid with

highest Ka value is

A. HIO

B. HFO

https://dl.doubtnut.com/l/_bfmsy5lmzB8h
https://dl.doubtnut.com/l/_dys6v0Gj9w5E


C. HClO

D. BrOH

Answer: C

Watch Video Solution

280. Among the oxo-acid of chlorine the correct

order of increasing acid strength is

A. 

B. 

HClO4 < HClO < HCIO2 < HClO3

HClO3 < HClO2 < HClO4 < HClO

https://dl.doubtnut.com/l/_dys6v0Gj9w5E
https://dl.doubtnut.com/l/_uGqgXvi8puf4


C. 

D. 

Answer: C

Watch Video Solution

HClO4 > HClO3 > HClO2 > HClO

HClO4 < HClO2 < HClO < HClO3

281. The number of chlorine to oxygen bonds in

 is

A. 7

B. 8

Cl2O7

https://dl.doubtnut.com/l/_uGqgXvi8puf4
https://dl.doubtnut.com/l/_PO1QauvI8RY7


C. 6

D. 10

Answer: B

Watch Video Solution

282. Which oxide of halogen is formed when

 is heated at  ?

A. 

B. 

HIO3 170∘C

I2O3

I2O5

https://dl.doubtnut.com/l/_PO1QauvI8RY7
https://dl.doubtnut.com/l/_pxnKdLqapxex


C. 

D. 

Answer: B

Watch Video Solution

I2O7

I2O4

283. Which of the following will liberate iodine

on treatment with KI solution ?

A. 

B. 

N2

Cl2

https://dl.doubtnut.com/l/_pxnKdLqapxex
https://dl.doubtnut.com/l/_YqcTgf49fWJ0


C. 

D. 

Answer: B

Watch Video Solution

H2

He

284. Which of the following oxygen compound

is not called oxide ?

A. 

B. 

OF2

Cl2O7

https://dl.doubtnut.com/l/_YqcTgf49fWJ0
https://dl.doubtnut.com/l/_1jnhEnZ50sRq


C. 

D. 

Answer: A

Watch Video Solution

ClO2

BrO2

285. What is true out of the following ?

A. Fluorine reduces water to oxygen

B. Fluorine neutralises wate

C. Fluorine oxides water to form  and O3 O2

https://dl.doubtnut.com/l/_1jnhEnZ50sRq
https://dl.doubtnut.com/l/_jGzea3Dt1asX


D. Fluorine does not react with water

Answer: C

Watch Video Solution

286. A mixture of sand and iodine can be

separated by

A. dissolving in water and filtering

B. fractional crystallization

C. adding dil HCl solution

https://dl.doubtnut.com/l/_jGzea3Dt1asX
https://dl.doubtnut.com/l/_JnBzBj144GRj


D. sublimation

Answer: D

Watch Video Solution

287. Which of the following has the highest

value of dipole movement?

A. HF

B. HCI

C. HBr

https://dl.doubtnut.com/l/_JnBzBj144GRj
https://dl.doubtnut.com/l/_iQT9iwYr1NHq


D. HI

Answer: A

Watch Video Solution

288. Which of the following does not form

precipitate with  ?

A. HF

B. HCI

C. HBr

AgNO3

https://dl.doubtnut.com/l/_iQT9iwYr1NHq
https://dl.doubtnut.com/l/_GrCBsfuAn74Y


D. HI

Answer: A

Watch Video Solution

289. The acid used for etching the glass is

A. 

B. 

C. 

D. Aqua regia

H2SO4

HClO4

HF

https://dl.doubtnut.com/l/_GrCBsfuAn74Y
https://dl.doubtnut.com/l/_tgA5ago1xMuJ


Answer: C

Watch Video Solution

290. Which of the following is called

oxymuriatic acid ?

A. HCl

B. 

C. HBr

D. HF

Cl2

https://dl.doubtnut.com/l/_tgA5ago1xMuJ
https://dl.doubtnut.com/l/_yQOkXX7WfIDv


Answer: B

Watch Video Solution

291. Bromine vapours will turn moist starch

iodide paper

A. Brown

B. Red

C. Blue

D. Colourless

https://dl.doubtnut.com/l/_yQOkXX7WfIDv
https://dl.doubtnut.com/l/_bUl4gN8BTAQQ


Answer: C

Watch Video Solution

292. Chlorine is formed when dil HCl is treated

with

A. 

B. 

C. 

D. All of these

KMnO4

MnO2

K2Cr2O7

https://dl.doubtnut.com/l/_bUl4gN8BTAQQ
https://dl.doubtnut.com/l/_LEi5Etwbirke


Answer: D

Watch Video Solution

293. Which halogen does not show +7 oxidation

state?

A. Chlorine

B. Bromine

C. Iodine

D. Fluorine

https://dl.doubtnut.com/l/_LEi5Etwbirke
https://dl.doubtnut.com/l/_VIKcElZ6PTcF


Answer: D

Watch Video Solution

294.  can be regarded as an anhydride of

A. hypochlorous acid

B. chlorous acid

C. chloric acid

D. per chloric acid

Answer: D

Cl2O7

https://dl.doubtnut.com/l/_VIKcElZ6PTcF
https://dl.doubtnut.com/l/_YPLVRncvz1eK


Watch Video Solution

295. The shape of  molecule is

A. pentagonal planar

B. trigonal bipyramidal

C. square pyramidal

D. dodecahedron

Answer: C

Watch Video Solution

IF5

https://dl.doubtnut.com/l/_YPLVRncvz1eK
https://dl.doubtnut.com/l/_eehzCcVgERZg


296. Which out of the following interhalogen

compounds is T-shaped ?

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

ClF3

BrF5

IF7

ClF

https://dl.doubtnut.com/l/_YCttbQlAnrmT


297. The hybrid state of Br in  is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

BrF5

sp3d

sp3d2

sp3

dsp2

https://dl.doubtnut.com/l/_k3H33pdtch2Z


298. The order 

corresponds to which of the following

properties

A. Bond length

B. Thermal stability

C. Ionic character

D. Dipole moment

Answer: A

Watch Video Solution

HF < HCl < HBr < HI

https://dl.doubtnut.com/l/_CKOytR7T1dbo


299. Bleaching powder is an example of

A. a double salt

B. a complex salt

C. an acidic salt

D. a mixed salt

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_ibqTbb2JELrd


300. Dilute solution of HF cannot be

concentrated beyond 36% by distilling only

because :

A. HF is non volatil

B. HF forms a constant boiling mixture

C. HF is least acidic

D. It is bad conductor

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_E7dhtkt2PAxL


301. Which of the following is known as spirit of

salt?

A. HBr

B. HI

C. 

D. HCl

Answer: C

Watch Video Solution

H2SO4

https://dl.doubtnut.com/l/_KQxfvHCzhZ10


302. Iodine stains on clothes can be removed by

A. NaCl

B. NaBr

C. Kl

D. 

Answer: D

Watch Video Solution

Na2S2O3

https://dl.doubtnut.com/l/_8A9dmwqTivxI


303. The increasing order of reducing power of

the halogen acids is

A. HF lt HCl lt HBr lt HI

B. HI lt HBr lt HCl lt HF

C. HBr lt HCl lt HF lt HI

D. HCl lt HBr lt HF lt HI

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_MIMiRX17oWRe


304. Iodine flakes when rubbed with liquor

ammonia give dark brown ppt. of

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

NI3

NH4I

NI3. NH3

NH4. NI3

https://dl.doubtnut.com/l/_2dn3Uk32e0JF


305. Fluorine reacts with cold dilute NaOH to

give

A. NaF and 

B. NaF and 

C. NaF and 

D. NaF ,  and 

Answer: B

Watch Video Solution

O2

OF2

H2O2

H2O2 Fe2O

https://dl.doubtnut.com/l/_0avnXOageiUt


306. Iodine reacts with hot conc. solution of

NaOH to give

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

NaI + NaOI + O2

NaI + HIO + O3

NaI + NaIO3 + H2O

NaI + HIO3 + H2O

https://dl.doubtnut.com/l/_n77QFEqHOQan


307. The deep colour produced when iodine

dissolves in potassium iodide solution is due to

the presence of

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

I +

I −

I −
3

I −
2

https://dl.doubtnut.com/l/_ajbG9QmE6B9r


308. Which of the following hydrohalic acids

has the highest value of dipole moment?

A. HF

B. HCl

C. HBr

D. HI

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_qEY1YlI1lIVJ


309. Which of the following does not form

precipitate with  ?

A. HF

B. HCl

C. HBr

D. HI

Answer: A

Watch Video Solution

AgNO3

https://dl.doubtnut.com/l/_0OdE2fBOU4jH


310. Which of the following statement is true

regardin g electrolysis of molten ICl ?

A.  is liberated at the cathode

B.  is liberated at the cathode

C.  is liberated at the anode

D. Both  and  are liberated at the

anode

Answer: A

Watch Video Solution

I2

Cl2

I2

I2 Cl2

https://dl.doubtnut.com/l/_NxGoKaEildWu


311. The solubility of the halogen in water

increases by addition of its salt. To which

halogen does this statement apply

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

F2

I2

Cl2

Br2

https://dl.doubtnut.com/l/_c8tUrhRQ29Ds


312. The least soluble halogen in water is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

F2

I2

Cl2

Br2

https://dl.doubtnut.com/l/_4RNh7NdqZiPx


313. Halogens combine among themselves to

form covalent compounds which are called

A. pseudo halides

B. inter halogen compound

C. polyhalide

D. none of these

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_2org24zZedwM


314. Slaked lime reacts with chlorine to form

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

Ca(OCl)2

Ca(OCl)Cl

Ca(ClO3)2

CaCl2

https://dl.doubtnut.com/l/_7mmlnCvg4hnE


315. The acid which cannot be kept in glass

bottles is

A. HF

B. HCI

C. HBr

D. HI

Answer: A

View Text Solution

https://dl.doubtnut.com/l/_uv01asGtf1ry


316. Chlorine is mixed with drinking water so

that

A. dirt is removed

B. water becomes colourless

C. bacteria are killed

D. suspended impurities get removed

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_IvwqV8yMQf7w


317. Which of the following is generally

bleached by bleaching powder ?

A. Straw

B. Ivory

C. Roll of cotton

D. Silk

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_HjbsYLVW6lS9


318. Iodine gives blue colour with

A. 

B. 

C. Starch solution

D.  solution

Answer: C

Watch Video Solution

Cl2

F2

FeCI3

https://dl.doubtnut.com/l/_22YOhO5D4jYn


319. The elements which exists in the liquid

state is/ are

A. 

B. Hg

C. Ga

D. All

Answer: D

Watch Video Solution

Br2

https://dl.doubtnut.com/l/_d6V6KEKsjm4H


320. Which oxidation state is not shown by

iodine ?

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

−1

+1

+4

+5

https://dl.doubtnut.com/l/_p8C4nuY1PHU6


321. Chile salt petre contains sodium iodate

upto

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

0.02 %

0.2 %

0.002 %

0.5 %

https://dl.doubtnut.com/l/_4eX9WEuBjWJc


322. The order of electron affinity among

halogen is

A. F gt Cl gt Br gt I

B. Cl gt F gt I gt Br

C. Cl gt F gt Br gt I

D. I gt F gt Cl gt Br

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_yIV1jiWxfzja


323. Bond energy is highest for which of the

following?

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

F2

Cl2

Br2

I2

https://dl.doubtnut.com/l/_XQrrqJylCRuX


324. Which halogen acid exists in dimeric form

even in the gaseous state ?

A. HCl

B. HF

C. HBr

D. HI

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_9fHEsmEblcNL


325. Fluorine does not show variable oxidation

states while other members of the halogen

family exhibit variable oxidation states. Why ?

A. its high electronegativity

B. smallest size of its atom

C. low bond dissociation energy

D. non-availability of d-orbital

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_LZVuQweYBOWq


326. ion leads with  to from

A. 

B.  and 

C. IC l and 

D. I Cl and 

Answer: B

Watch Video Solution

ClO−
3 I2

ClO
−
4

IO−
3 Cl2

O2

O3

https://dl.doubtnut.com/l/_THU9f7AIiZM1


327. In which of following ions, the hybrid state

of halogen atom is  ?

A. 

B. 

C. 

D. In all

Answer: D

Watch Video Solution

sp3

ClO−

ClO
−
4

ClO−
3

https://dl.doubtnut.com/l/_LWXJQEEfYeUE


328. In which solution halogen molecule tends

to disproportionate ?

A. In 

B. In cold 

C. In hot NaOH

D. In hot water

Answer: C

Watch Video Solution

H2SO4

H2O

https://dl.doubtnut.com/l/_KE4AeSIFonuX


329. Which of the following reagents produce

 ?

A. 

B. 

C. 

D. 

Answer: D

View Text Solution

ClO2

Cl2 + HgO →

Cl2 + O2 →

NaClO3 + I2 →

NaClO3 + SO3 + H2SO4 →

https://dl.doubtnut.com/l/_7pzEUHn9gzoY


330. Which of the following does not form

precipitate with  ?

A. HF

B. HCI

C. HBr

D. HI

Answer: A

Watch Video Solution

AgNO3

https://dl.doubtnut.com/l/_NuYnTmXJD2FI


331. The tendency to form the anion  is

greatest with

A. Fluorine

B. Bromine

C. Iodine

D. Chlorine

Answer: D

Watch Video Solution

X −

https://dl.doubtnut.com/l/_3XToKfh71sp2


332. Which halogen oxidises water to liberate

oxygen exothermally?

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

F2

Cl2

Br2

I2

https://dl.doubtnut.com/l/_n1bL6Fvz9Uyt


333. Which of the following is a pseudohalide

ion ?

A. 

B. 

C. 

D. Both (a) and (b)

Answer: C

Watch Video Solution

(CN)2

(SCN)2

N −
3

https://dl.doubtnut.com/l/_V3rcdW3hqqwq


334. Which of the following interhalogens can

not exist ?

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

CIF5

ClI5

ICl−
2

IF
−

4

https://dl.doubtnut.com/l/_wxbAgjFgmxfr


335. Which of the following is not an oxyacid of

chlorine ?

A. HCI

B. 

C. 

D. 

Answer: A

Watch Video Solution

HCIO5

HClO2

HCIO3

https://dl.doubtnut.com/l/_jPMreTi7C7K3


336. Chlorine reacts with excess  to give

A. 

B. HCI

C. 

D. 

Answer: D

Watch Video Solution

NH3

NCl3

N2

N2 + NH4Cl

https://dl.doubtnut.com/l/_r7VBts2zRVD7


337. The solubility of iodine in water increases

in the presence of

A. Alcohol

B. Chloroform

C. Sodium hydroxide

D. Potassium trichloride

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_E2MtcVRwzzzQ


338. Bromine is liberated when aqueous

solution of potassium bromide is treated with

A. Cl

B. 

C. Dilute 

D. 

Answer: A

Watch Video Solution

I2

H2SO4

SO2

https://dl.doubtnut.com/l/_b6q6zm493VHM


339. Chlorine is used in water for

A. Killing germs

B. Prevention of pollution

C. Cleansing

D. Removing dirt

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_dXKWevfD3hEM


340. Which two substances are used in

preparing iodised salt ?

A.  and 

B. KI and 

C.  and KI

D. HI and KI

Answer: B

Watch Video Solution

KlO3 I2

I2

KIO3

https://dl.doubtnut.com/l/_XayMicx9JyIq


341. Which one of the following orders is not

proper?

A.  : Electronegativity

B.  : Bond

dissociation energy

C.  : Oxidising power

D.  : Acidic

property in water

Answer: B

W h Vid S l i

F2 > Cl2 > Br2 > I2

F2 > Cl2 > Br2 > I2

F2 > Cl2 > Br2 > I2

HI > HBr > HCl > HF

https://dl.doubtnut.com/l/_s3bavUwyhvlD


Watch Video Solution

342. A balck powder when heated with Conc.

HCI gives a greenish yellow. Gas. The gas as an

oxidising and bleaching agent. When it is

passed over slake lime, a white poweder is

formed which is a ready source of gas. The back

powder and white powder respectively are

A.  and 

B.  and 

C.  and KClO

KClO3 NaClO3

MnO2 Ca(OCl)2

MnO2

https://dl.doubtnut.com/l/_s3bavUwyhvlD
https://dl.doubtnut.com/l/_JgGihZTEVpbF


D.  and 

Answer: B

Watch Video Solution

MnCl4 COCl2

343. Unlike other halogens Fluorine does not

show higher oxidation states because

A. It is most electronegative

B. It has no d- orbital

C. Atomic radius is smallest

https://dl.doubtnut.com/l/_JgGihZTEVpbF
https://dl.doubtnut.com/l/_QCnoPLFtrCxS


D. All of above

Answer: D

Watch Video Solution

344. When chlorine is passed through

concentrated solution of KOH, the compound

formed is ____________ .

A. KCI

B. KClO3

https://dl.doubtnut.com/l/_QCnoPLFtrCxS
https://dl.doubtnut.com/l/_hEorUuLkGQ8Q


C. 

D. 

Answer: B

Watch Video Solution

KClO2

KClO4

345. What products are expected from the

desproprtionation reactin of hypochorous acid

?

A.  and HClO3 Cl2O

https://dl.doubtnut.com/l/_hEorUuLkGQ8Q
https://dl.doubtnut.com/l/_WkWpjmX2jpuL


B.  and 

C. HCl and 

D. HCl and 

Answer: D

Watch Video Solution

HClO2 HClO4

Cl2O

HClO3

346. Element that liberates oxygen gas from

water is

A. P

https://dl.doubtnut.com/l/_WkWpjmX2jpuL
https://dl.doubtnut.com/l/_S25ZeMg4OxvY


B. Na

C. F

D. I

Answer: C

Watch Video Solution

347. Bleaching powder is obtained by treating

chlorine with

A. Cao

https://dl.doubtnut.com/l/_S25ZeMg4OxvY
https://dl.doubtnut.com/l/_L3BmhkpDtwkg


B. 

C. 

D. 

Answer: D

Watch Video Solution

CaCO3

CaSO4

Ca(OH)4

348. In which of the following O-H bond

ruptures easily ?

A. Cl-O-H

https://dl.doubtnut.com/l/_L3BmhkpDtwkg
https://dl.doubtnut.com/l/_CbEf5szQuAsk


B. P-O-H

C. S - O - H

D. Al - O- H

Answer: A

Watch Video Solution

349. What may be expected to happen when

phosphine gas is mixed with chlorine gas ?

https://dl.doubtnut.com/l/_CbEf5szQuAsk
https://dl.doubtnut.com/l/_gooMFBalNEvV


A.  and HCI are formed and themixture

warms up

B.  and HCI are formed and the

mixture cools down

C.  is formed with warming up

D. The mixture only cools down

Answer: B

Watch Video Solution

PCI3

PCI5

PH3Cl2

https://dl.doubtnut.com/l/_gooMFBalNEvV


350. A red solid is insoluble in water. However, it

becomes soluble if some KI is added to water.

Heating the red solid in a test tube results in

liberation of some violet coloured fumes and

droplets of a metal appear on the cooler parts

of the test tube. The rod solid is:

A. 

B. HgO

C. 

D. 

HgI2

Pb3O4

(NH4)2Cr2O7

https://dl.doubtnut.com/l/_7OHihO5wwelA


Answer: A

Watch Video Solution

351. The maximum number of  angles

between bp-bp of electrons is observed in .

A.  hybridisation

B.  hybridisation

C.  hybridisation

D.  hybridisation

90∘

dsp3

sp3d2

dsp2

sp3d

https://dl.doubtnut.com/l/_7OHihO5wwelA
https://dl.doubtnut.com/l/_qAo0L80egyoN


Answer: B

Watch Video Solution

352. Excess of  reacts with  solution

and  solution is added to it. Which of

the following statements in incorrect for the

reaction?

A.  is reduced

B. Evolved  is reduced

C.  is oxidised

KI CuSO4

Na2SO3

Cu2I2

I2

Na2S2O3

https://dl.doubtnut.com/l/_qAo0L80egyoN
https://dl.doubtnut.com/l/_eZGB9A5M5gSb


D.  is formed

Answer: D

Watch Video Solution

CuI2

353. The structure of  is

A. Trigonal bipyramid

B. Octahedral

C. Pentagonal bipyramid

D. square pyramid

IF7

https://dl.doubtnut.com/l/_eZGB9A5M5gSb
https://dl.doubtnut.com/l/_De1wy0vhpVlE


Answer: C

Watch Video Solution

354. In which of the following pairs, the two

species are not isostructural?

A.  and 

B.  and 

C.  and 

D.  and 

CO2 −
3 NO−

3

PCl
+
4 SiCl4

PF5 BrF5

AlF 3 −
6 SF6

https://dl.doubtnut.com/l/_De1wy0vhpVlE
https://dl.doubtnut.com/l/_BXZdVrNed6ER


Answer: C

Watch Video Solution

355. HBr and HI can reduce sulphurie acid, HCI

can reduced  and HF can reduce…………….

A. 

B. 

C. 

D. None of these

KMnO4

H2SO4

KMnO4

K2Cr2O7

https://dl.doubtnut.com/l/_BXZdVrNed6ER
https://dl.doubtnut.com/l/_aCeBZ886xMWr


Answer: D

Watch Video Solution

356. Chlorine acts as a bleaching agent only in

the presence of

A. Dryair

B. Moisture

C. Sunlight

D. Pure oxygen

https://dl.doubtnut.com/l/_aCeBZ886xMWr
https://dl.doubtnut.com/l/_V6VNebg9jwjI


Answer: B

Watch Video Solution

357. Bromine can be liberated form potassium

bromide solution by the action of

A. Iodine solution

B. Chlorine water

C. Sodium chloride

D. Potassium iodide

https://dl.doubtnut.com/l/_V6VNebg9jwjI
https://dl.doubtnut.com/l/_aQ9sFolBDxS0


Answer: B

Watch Video Solution

358. In compounds of type , where

, As or , the angles  for

different  are in the order

A. BgtP=As=Bi

B. BgtP gt AsgtBi

C. B lt P =As= Bi

D. B lt P lt As lt Bi

ECI3

E = BP B CI − E − CI

E

https://dl.doubtnut.com/l/_aQ9sFolBDxS0
https://dl.doubtnut.com/l/_11atDyQrjt5i


Answer: B

Watch Video Solution

359. What is the correct observation when 

is treated with NaF, NaCl andNal taken in three

test-tubes labelled as A, Band C. 

A.  is liberated in A and  in B

Br2

F2 Cl2

https://dl.doubtnut.com/l/_11atDyQrjt5i
https://dl.doubtnut.com/l/_gt5JVJxfjilz


B. Only  is liberated in C

C. Only  is liberated in B

D. Only  is liberated in A

Answer: B

Watch Video Solution

I2

Cl2

F2

360. What is the highest oxidation state

exhibited by group 17 elements ?

A. +1

https://dl.doubtnut.com/l/_gt5JVJxfjilz
https://dl.doubtnut.com/l/_Iks9BwiJu9ns


B. 

C. 

D. 

Answer: D

Watch Video Solution

+3

+5

+7

361. Which halide of magnesium has highest

ionic character?

A. Chloride

https://dl.doubtnut.com/l/_Iks9BwiJu9ns
https://dl.doubtnut.com/l/_2GSih3TxcJr4


B. Bromide

C. Iodide

D. Fluoride

Answer: D

Watch Video Solution

362. Which halogen has the highest value of

negative electron gain enthalpy ?

Watch Video Solution

https://dl.doubtnut.com/l/_2GSih3TxcJr4
https://dl.doubtnut.com/l/_2r19NFDkUgoc


363. The valence shell electronic configuration

of noble gases except helium is

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

ns2np3

ns2np4

ns2np5

ns2np6

https://dl.doubtnut.com/l/_ZEDM3ivlj1ZL


364. The term noble gases is referred to which

groups of element?

A. 13 group

B. 14 group

C. 18 group

D. 12 group

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_gJfL1MIHo9aQ


365. Which electronic configuration

corresponds to minimum energy and maximum

stability?

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

(n − 1)d10ns1

(n − 1)d5ns1

ns2np6

ns2np3

https://dl.doubtnut.com/l/_8prN4lORPpDx


366. Whatis the electronic configuration of

Argon ?

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

1s22s22p6

1s22s22p63s23p6

1s22s22p63s23p4

1s22s22p63s23p5

https://dl.doubtnut.com/l/_Q0JYIsnsjpbU


367. Which of the following noble gases has the

lowest atomic number?

A. He

B. Ne

C. Kr

D. Xe

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_qCPJlSPTaE2l


368. Which one of the following noble gas is

obtained by radioactive disintegration ?

A. He

B. Ne

C. Ar

D. Rn

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_HclA1xbOS52C


369. The noble gases found dissolved in spring

water are

A. argon and helium

B. neon and argon

C. krypton and xenon

D. xenon and radon

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_qf331sPn5xAv


370. Maximum number of compounds are

formed by

A. He

B. Ne

C. Ar

D. Xe

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_Zb990vGiNV0o


371. Study of solar spectrum revealed the

presence of

A.  and He

B.  and Ar

C.  and Ne

D. Ar and Ne

Answer: A

Watch Video Solution

H2

H2

H2

https://dl.doubtnut.com/l/_jlVvsdsxBBDd


372. The ease of liquefaction of noble gases

decreases in the order

A. Hegt Negt Argt Krgt Xe

B. Xegt Kr gt Ar gtNegt He

C. Krgt Xe gt He gtArgt Ne

D. ArgtKr gt XegtHegtNe

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_F7TF0BNgOhSv


373. Which out of the following is called

stranger gas?

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

N2O

He

Xe

Kr

https://dl.doubtnut.com/l/_mkHXqVW82RH2


374. The nucleus of helium contains

A. three protons and one neutron

B. two proton and two neutron

C. four protons only

D. one proton and three neutrons

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_faUbl4NAyhZa


375. Which of the noble gas has highest

polarizability

A. He

B. Ar

C. Kr

D. Xe

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_JSzPWHaOwMab


376. The credit of discovery of Radon goes to

A. Rayleigh

B. Cavendish

C. Frankland and Lockye

D. EE Dorn

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_KYe5NQv8m1xb


377. Helium is found in radioactive minerals

because

A. it is a radioactive gas

B. it reacts with radioactive elements

C. it is formed by the disintegration of the

radioactive elements present in minerals

like clevite, monazite and remains

enclosed within them

D. none of the above

https://dl.doubtnut.com/l/_BpmFGQvjTuIx


Answer: C

Watch Video Solution

378. The spectrum of  is expected to be

similar to that of

A. Na

B. 

C. H

D. 

He+

Li+

Be+ 2

https://dl.doubtnut.com/l/_BpmFGQvjTuIx
https://dl.doubtnut.com/l/_KMLi8xUoR2Cq


Answer: C

Watch Video Solution

379. The highest ionization enthalpy is a period

is shown by

A. Alkali metals

B. Alkaline earth metals

C. Halogens

D. Noble gases

https://dl.doubtnut.com/l/_KMLi8xUoR2Cq
https://dl.doubtnut.com/l/_3DRkHkZRH6GE


Answer: D

View Text Solution

380. The electron gain enthalpy of noble gas is

A. high

B. low

C. positive and very high

D. negative

Answer: C

https://dl.doubtnut.com/l/_3DRkHkZRH6GE
https://dl.doubtnut.com/l/_5lwhep65XF7z


Watch Video Solution

381. The molecular structure of noble gases are

A. diatomic

B. monoatomic

C. tetra-atomic

D. triatomic

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_5lwhep65XF7z
https://dl.doubtnut.com/l/_f6mewN17IfaT


382. As we move along the period, the atomic

radii decreases. Which of the following group

contradicts the above statement ?

A. Alkali metals

B. Carbon family

C. Halogen family

D. Noble gases

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_rdJh2LDmojKb


383. The inert gas abundantly found in

atmosphere is:

A. Xe

B. Kr

C. Ar

D. He

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_fzPF5BB7M8fo


384. The lightest, non-inflammable gas is

A. 

B. 

C. 

D. He

Answer: D

Watch Video Solution

O2

N2

H2

https://dl.doubtnut.com/l/_CGzGOzFAgg3G


385. A noble gas which is not adsorbed by

coconut charcoal is

A. He

B. Ne

C. Ar

D. Kr

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_KlZTXcr1Zf9c


386. The source from where most of helium is

obtained at present is

A. Sun

B. Sea water

C. Minerals

D. Natural gas

Answer: A

View Text Solution

https://dl.doubtnut.com/l/_LRvollqGkIyS


387. Which mineral was used in the isolation of

Helium

A. Pitch blende

B. Haematite

C. Monazite

D. Clevite

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_obMo4FatcKwc


388. Which noble gas was detected first

A. He

B. Ne

C. Ar

D. Xe

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_6Ettn16bd2VG


389. The inert gases can be isolated and

separated by

A. electrolysis of their compound

B. fractional distillation of liquid air

C. adsorption and desorption on charcoal

D. both (b) and (c)

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_x4f8Hneae5UR


390. Noble gases do not react with other

elements because

A. they are monoatomic

B. they are found in abundance

C. the size of their atom is very small

D. their electrons are completely paired up

and they have completely filled electron

subshells

Answer: D

W h Vid S l i

https://dl.doubtnut.com/l/_pTatkPDZYk1G


Watch Video Solution

391. Nuclear fusion produces

A. Argon

B. Deuterium

C. Helium

D. Krypton

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_pTatkPDZYk1G
https://dl.doubtnut.com/l/_t9G8h4VjXaA7
https://dl.doubtnut.com/l/_4zjgi793UPGV


392. Least chemical activity is shown by

A. Ammonia

B. Methane

C. Argon

D. Sulphuric acid

Answer: C

Watch Video Solution

393. Monazite is a source of

https://dl.doubtnut.com/l/_4zjgi793UPGV
https://dl.doubtnut.com/l/_WtBjssnx6nZO


A. He

B. Kr

C. Ar

D. Ne

Answer: A

View Text Solution

394. Beacon lights are obtained from

A. tungsten lamps

https://dl.doubtnut.com/l/_WtBjssnx6nZO
https://dl.doubtnut.com/l/_fOtTPlaPJtTP


B. hydrogen lamps

C. neon lamps

D. xenon lamps

Answer: C

Watch Video Solution

395. Deep sea divers used to respire in a

mixture of

A. oxygen and argon

https://dl.doubtnut.com/l/_fOtTPlaPJtTP
https://dl.doubtnut.com/l/_mTvcvnu2PcaU


B. oxygen and helium

C. oxygen and nitrogen

D. oxygen and hydrogen

Answer: B

Watch Video Solution

396. Xenon reacts directly with

A. 

B. 

F2

Br2

https://dl.doubtnut.com/l/_mTvcvnu2PcaU
https://dl.doubtnut.com/l/_GMXRxXaPo1on


C. 

D. All

Answer: A

Watch Video Solution

Cl2

397. Welding of magnesium can be done in an

atmosphere of

A. 

B. 

O2

N2

https://dl.doubtnut.com/l/_GMXRxXaPo1on
https://dl.doubtnut.com/l/_ZzgdZc0oolQr


C. He

D. All

Answer: C

Watch Video Solution

398. Clathrates are the compounds obtained

from noble gases and

A. water

B. quinol

https://dl.doubtnut.com/l/_ZzgdZc0oolQr
https://dl.doubtnut.com/l/_m8iF1JA6evUe


C. liquid ammonia

D. both (a) and (b)

Answer: D

Watch Video Solution

399. In order to prevent the hot metal filament

from getting burnt, when the electric current is

switched on, the bulb is filled with

A. Cl2

https://dl.doubtnut.com/l/_m8iF1JA6evUe
https://dl.doubtnut.com/l/_mK2PsVdm2CV0


B. 

C. 

D. An inert gas

Answer: D

Watch Video Solution

H2

NH3

400. The atomicity of noble gases is

A. 4

B. 3

https://dl.doubtnut.com/l/_mK2PsVdm2CV0
https://dl.doubtnut.com/l/_OlLYPz6nFlVR


C. 1

D. 2

Answer: C

Watch Video Solution

401. Noble gas which forms interstitial

compounds with metals is

A. Neon

B. Argon

https://dl.doubtnut.com/l/_OlLYPz6nFlVR
https://dl.doubtnut.com/l/_HnaFqf0wx14V


C. Helium

D. Xenon

Answer: C

Watch Video Solution

402. Compounds formed when the noble gases

get entrapped in the cavities of crystal lattices

of certain oreganic and inorganic compounds

are known as

A. Interstitial compounds

https://dl.doubtnut.com/l/_HnaFqf0wx14V
https://dl.doubtnut.com/l/_6hDQPIgGts3T


B. Clathrates

C. Hydrates

D. Picrates

Answer: B

Watch Video Solution

403. A monoatomic gas reacts with fluorine to

form a fluoride which dissolve in HF to give a

conducting solution. The fluoride is

https://dl.doubtnut.com/l/_6hDQPIgGts3T
https://dl.doubtnut.com/l/_4OeD4hycq3Ki


A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

XeF2

XeF4

XeF6

OF2

404. The forces of cohesion in liquid helium are

A. ionic

https://dl.doubtnut.com/l/_4OeD4hycq3Ki
https://dl.doubtnut.com/l/_nJ11meHaZexo


B. covalent

C. vander waal's

D. metallic

Answer: C

Watch Video Solution

405. The formula of sodium perxenate is ______.

A. 

B. 

Na3XeO6

Na4XeO6

https://dl.doubtnut.com/l/_nJ11meHaZexo
https://dl.doubtnut.com/l/_NYnBk72Nql1O


C. 

D. None

Answer: B

Watch Video Solution

Na2XeF8

406. Which of the following sets of elements

are called aerogens ?

A. He, Ne, Ar

B. F, Cl, Br

https://dl.doubtnut.com/l/_NYnBk72Nql1O
https://dl.doubtnut.com/l/_lUXnzMGbOLxb


C. O, S, Se

D. N, P, As

Answer: A

View Text Solution

407. In solid argon the atoms are held by

A. ionic bond

B. covalent bond

C. hydrogen bonds

https://dl.doubtnut.com/l/_lUXnzMGbOLxb
https://dl.doubtnut.com/l/_63te9ZFRdonX


D. vander waal's forces

Answer: D

Watch Video Solution

408. Draw the structure of  molecule.

A. tetrahedral

B. square planar

C. linear

D. octahedral

XeF4

https://dl.doubtnut.com/l/_63te9ZFRdonX
https://dl.doubtnut.com/l/_vMcxyBf9hD1a


Answer: B

Watch Video Solution

409. Noble gases are sparingly soluble in water

due to

A. Dipole - dipole interactions

B. Dipole - induced dipole interactions

C. Induced dipole - induced dipole

interactions

D. Hydrogen bondings

https://dl.doubtnut.com/l/_vMcxyBf9hD1a
https://dl.doubtnut.com/l/_KDiOFbH2Rdns


Answer: B

Watch Video Solution

410. The coloured discharge tubes for

advertisement mainly contains

A. He

B. Ar

C. Ne

D. Xe

https://dl.doubtnut.com/l/_KDiOFbH2Rdns
https://dl.doubtnut.com/l/_8ZuAozE6on4h


Answer: C

Watch Video Solution

411. Fill in the blanks : 

The noble gases can form compounds with

____A _____ and _____B____. The mixture of

____C____ and __D____ is used for respiration by

divers.

A. A-Iodine , B-Oxygen , C-Oxygen , D-Argon

B. A-Fluorine , B-Oxygen , C-Helium ,D-Oxygen

https://dl.doubtnut.com/l/_8ZuAozE6on4h
https://dl.doubtnut.com/l/_gWzALeCMgsZ6


C. A-Xenon , B-Platinum ,C-Argon, D-Krypton

D. A-Helium ,B-Oxygen , C-Xenon , D-Argon

Answer: B

Watch Video Solution

412. First ever compound of a noble gas was

prepared by

A. Barlett

B. Berzelius

https://dl.doubtnut.com/l/_gWzALeCMgsZ6
https://dl.doubtnut.com/l/_4Otow5PZ33AU


C. Ramsay

D. Cavendish

Answer: A

Watch Video Solution

413. Which compound is prepared by the

following reaction ? 

A. 

Xe + F2
(2:1 volume ratio)

Ni
−−→
673 K

XeF4

https://dl.doubtnut.com/l/_4Otow5PZ33AU
https://dl.doubtnut.com/l/_NQeItuBayQCS


B. 

C. 

D.  and 

Answer: A

Watch Video Solution

XeF2

XeF6

XeF2 XeF6

414. Noble gas forms compounds with

A. Fluorine

B. Oxygen

https://dl.doubtnut.com/l/_NQeItuBayQCS
https://dl.doubtnut.com/l/_b6RJ8DYjg6zs


C. Fluorine and Oxygen

D. Fluorine and Sulphur

Answer: C

Watch Video Solution

415. Which of the following noble gases is used

in the treatment of cancer ?

A. Helium

B. Argon

https://dl.doubtnut.com/l/_b6RJ8DYjg6zs
https://dl.doubtnut.com/l/_xose4Kfz7Msf


C. Krypton

D. Radon

Answer: D

Watch Video Solution

416. The compound that attacks pyrex glass is

A. 

B. 

C. 

XeF2

XeF4

XeF6

https://dl.doubtnut.com/l/_xose4Kfz7Msf
https://dl.doubtnut.com/l/_PC1MmwLm644W


D. All

Answer: C

Watch Video Solution

417. Which of the following is not the correct

uses of clathrates ?

A. In the separation of noble gases

B. In transporting of isotopes of noble

gases

https://dl.doubtnut.com/l/_PC1MmwLm644W
https://dl.doubtnut.com/l/_OXCgA3Mu7ARp


C. Kr - 85 clathrate provide a useful source

of - radiations

D. Clathrates compounds are used for

producing compounds of noble gases

Answer: D

Watch Video Solution

β

418. Molecules of a noble gas do not posses

vibrational energy because a noble gas

https://dl.doubtnut.com/l/_OXCgA3Mu7ARp
https://dl.doubtnut.com/l/_Fo6ZSFQiCgME


A. Monoatomic

B. Chemicallyinert

C. Complete filled shells

D. Diatomic

Answer: A

Watch Video Solution

419. The coloured discharge tubes for

advertisement mainly contains

https://dl.doubtnut.com/l/_Fo6ZSFQiCgME
https://dl.doubtnut.com/l/_ApLUAkGpDMeE


A. Argon

B. Neon

C. Helium

D. Xenon

Answer: B

Watch Video Solution

420. Which of the following is not correct for

noble gas?

https://dl.doubtnut.com/l/_ApLUAkGpDMeE
https://dl.doubtnut.com/l/_wcRro91eTNV7


A. Ar is used in electric bulbs

B. Kr is obtained during radioactive

disintegration

C. Half life of Rn is 3.8 days

D. Helium is used to produce low

temperature

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_wcRro91eTNV7


421. The forces acting between noble gas atoms

are

A. Vander waals forces

B. Ion -dipole forces

C. London - dispersion forces

D. Magnetic forces

Answer: A

View Text Solution

https://dl.doubtnut.com/l/_XEhO5clLU6Qr


422. Which of the following is not correct about

xenon hexafluoride?

A. It has oxidation state of +6

B. The hybridisation involved in  is 

.

C. The shape of  is distorted

octahedral and can be represented as 

XeF6

sp3d3

XeF6

https://dl.doubtnut.com/l/_LUEp4ydEqTxA


D. On hydrolysis it gives Xe, HF and 

Answer: D

View Text Solution

O2

423. Among the fluorides below, the one which

does not exist is

A. 

B. 

C. 

XeF4

HeF4

SF4

https://dl.doubtnut.com/l/_LUEp4ydEqTxA
https://dl.doubtnut.com/l/_tQSypnOmcKPz


D. 

Answer: B

Watch Video Solution

CF4

424. Argon possess_________ energy.

A. Translational

B. Vibrational

C. Rotational

D. Intermolecular

https://dl.doubtnut.com/l/_tQSypnOmcKPz
https://dl.doubtnut.com/l/_yKpc6UIybgdv


Answer: A

Watch Video Solution

425. Monazite is a source of

A. He and Ne

B. Kr

C. Ar

D. Xe

Answer: A

https://dl.doubtnut.com/l/_yKpc6UIybgdv
https://dl.doubtnut.com/l/_43RH0A3T0gLQ


Watch Video Solution

426. The charcoal maintained at

absorbs

A. Ne and Kr

B. He and Ar

C. Ar, Kr and Xe

D. He and Ne

Answer: C

Watch Video Solution

−100∘C

https://dl.doubtnut.com/l/_43RH0A3T0gLQ
https://dl.doubtnut.com/l/_6pwSHCTPTsdo


427. Which is planar molecule ?

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

XeO4

XeF4

XeOF4

XeO2F2

https://dl.doubtnut.com/l/_6pwSHCTPTsdo
https://dl.doubtnut.com/l/_vECqZH9PbbYp
https://dl.doubtnut.com/l/_WoWad0nddrMY


428. In , , and , the number of

lone pairs on  is, respectively,

A. 2, 3, 1

B. 1, 2, 3

C. 4, 1, 2

D. 3, 2, 1

Answer: D

Watch Video Solution

XeF2 XeF4 XeF6

Xe

https://dl.doubtnut.com/l/_WoWad0nddrMY


429. The pair of species having identical shapes

for molecules of both species is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

XeF2, CO2

BF3, PCI3

PF5, IF5

CF4, SF4

https://dl.doubtnut.com/l/_R2ZZxtXqPzOi


430. Total number of lone pair of electrons in

 is :

A. 0

B. 1

C. 2

D. 3

Answer: B

Watch Video Solution

XeOF4

https://dl.doubtnut.com/l/_aaeDCx4vJ6ws


431. Complete the following reactions by filling

the appropriate choice. 

A. (i)-  , (ii)-  , (iii)-

B. (i)-  , (ii)-  , (iii)-

C. (i)-  , (ii)-  , (iii)-

D. (i)-  , (ii)-  , (iii)-

Answer: B

Watch Video Solution

A. 6XeF4 + 12H2O → 4Xe + 2XeO3 + (i) + (ii)

B. XeF6 + 3H2O → (iii) + 6HF

F2 H2O XeOF4

24HF 3O2 XeO3

2HF 2H2O XeO

HF H2O Xe2O3

https://dl.doubtnut.com/l/_MNgZ6R0jKSg8


432. The most abundant noble gas in the

atmosphere is

A. Neon

B. Argon

C. xenon

D. Krypton

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_MNgZ6R0jKSg8
https://dl.doubtnut.com/l/_doZ4g3A4mRLw


433. Which element among the following does

not form diatomic molecules?

A. Argon

B. Oxygen

C. Nitrogen

D. Bromine

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_Ya6VorORHwTo


TEST YOUR GRASP

1. The element which forms oxides in all

oxidation states  to  is.

A. As

B. P

C. N

D. Bi

Answer: C

Watch Video Solution

+1 +5

https://dl.doubtnut.com/l/_niEHID5vxEYT


2. With Nesslers reagent, ammonia gives brown

precipitate due to formation of

A. Ammonium hydroxide

B. Iodide of Millon's base

C. Potassium amide

D. Chloramine

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_niEHID5vxEYT
https://dl.doubtnut.com/l/_qZ7ZoZp73ogS
https://dl.doubtnut.com/l/_OFe4lCot7MiO


3. Oxide of nitrogen used as an oxidiser for

rocket fuels in missiles and space vehicles is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

N2O

NO2

N2O4

NO

https://dl.doubtnut.com/l/_OFe4lCot7MiO


4. Oxide of nitrogen which acts as oxidising as

well as reducing agent is

A. NO

B. 

C. 

D. 

Answer: A

View Text Solution

N2O5

NO2

N2O

https://dl.doubtnut.com/l/_lzhLTk15OJXk


5. A group 16 element exists in monoatomic

state in the metallic lattice. It also exists in two

crystalline forms. The metal is

A. S

B. Te

C. Po

D. Se

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_eU94KjW4uaIj


6. What is the hybridization of S in  ?

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

SF6

sp3d2

sp3d

sp3d3

sp3

https://dl.doubtnut.com/l/_Ex9l4bA3jPf4


7. When dipped in conc. , metals like

iron, chromium, nickel, aluminium, base become

passive. This is due to

A. reduction of metals

B. formation of corresponding nitrates

C. evolution of nitrogen dioxide

D. formation of layer of metal oxide on the

surface of metal

Answer: D

View Text Solution

HNO3

https://dl.doubtnut.com/l/_sJCaFafVdkVq


View Text Solution

8. Laughing gas has chemical formula

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

N2O

NO2

NO

N2O5

https://dl.doubtnut.com/l/_sJCaFafVdkVq
https://dl.doubtnut.com/l/_iiVTm3JU0oUV
https://dl.doubtnut.com/l/_dNqKChAteIup


9. A solution of colourless salt H on boiling with

axcess  produces a non-flammable gas.

The gas evolution ceases after sometime. Upon

addition of Zn dust to the same solution, the

gas evolution restarts. The colourless salt(s) H

is (are)

A. 

B. 

C. 

D. 

NaOH

NH4CO3

Cu(NO3)2

(NH4)2SO4

NiNO3

https://dl.doubtnut.com/l/_dNqKChAteIup


Answer: A

Watch Video Solution

10. When chloride is passed over dry slaked lime

at room temperature the main reaction

product is

A. 

B. 

C. 

D. 

Ca(ClO2)2

CaCl2

CaOCl2

Ca(OCl2)2

https://dl.doubtnut.com/l/_dNqKChAteIup
https://dl.doubtnut.com/l/_6kMbieamUIUY


Answer: C

Watch Video Solution

11. When  is dissolved in , the colour

that results is

A. brown colour

B. violet colour

C. colourless

D. bluish green

I2 CCl4

https://dl.doubtnut.com/l/_6kMbieamUIUY
https://dl.doubtnut.com/l/_GxHwQHeROJE9


Answer: B

Watch Video Solution

12. Fluorine does not show positive oxidation

states due to the absence of

A. d-orbitals

B. s-orbital

C. p-orbitals

D. none

https://dl.doubtnut.com/l/_GxHwQHeROJE9
https://dl.doubtnut.com/l/_D3dLPJdZMDvD


Answer: A

Watch Video Solution

13. The hybridisation of xenon in  is

A. 

B. 

C. 

D. 

Answer: A

XeF2

sp3

sp2

sp3d

sp2d

https://dl.doubtnut.com/l/_D3dLPJdZMDvD
https://dl.doubtnut.com/l/_CNUym9STqvmy


Watch Video Solution

14. An inert gas atoms

A. has one electron in the outermost shell

B. has three electrons in the outermost

shell

C. has half-filled outermost shell

D. has a saturated outermost shell

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_CNUym9STqvmy
https://dl.doubtnut.com/l/_oPjuRVe17azq


15. Argon is used in arc welding because of its

A. ability to lower the melting point of metal

B. flammability

C. low reactivity with metal

D. high calorific value

Answer: C

View Text Solution

https://dl.doubtnut.com/l/_oPjuRVe17azq
https://dl.doubtnut.com/l/_ealNLTAmBlfJ
https://dl.doubtnut.com/l/_oxpo3kXpOOaB


16. Nitrogen shows oxidation state +5, but it

does not form pentahalide as

A. it is the first number of group 15

B. it is a diatomic gas

C. it has no d-orbitals so valence shell

cannot be expanded

D. it has small atomic and ionic radii

Answer: C

View Text Solution

https://dl.doubtnut.com/l/_oxpo3kXpOOaB
https://dl.doubtnut.com/l/_bPDhp5emKapp


17.  fumes in moisture because

A. it undergoes hydrolysis giving fumes of

HCl

B. it has 5 chlorine atoms

C. P in  is  hybridised

D. Chlorine atom is replaced by hydroxyl

group

Answer: A

View Text Solution

PCl3

PCl3 sp3

https://dl.doubtnut.com/l/_bPDhp5emKapp


18. Which of the following statement is correct?

A. Carbon forms oxides which are basic in

nature

B. Metals can form only acidic oxides

C. Sodium metal is stored under kerosene

D. White phosphorus is kept under kerosene

to avoid oxidation

Answer: C

View Text Solution

https://dl.doubtnut.com/l/_bPDhp5emKapp
https://dl.doubtnut.com/l/_5QQsGeEoBdc5


19. S-S bond is present in

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

S2O
2 −
7

S3O9

S2O
2 −
4

S2O
2 −
3

https://dl.doubtnut.com/l/_5QQsGeEoBdc5
https://dl.doubtnut.com/l/_oCnvglZRFRR5
https://dl.doubtnut.com/l/_A1HafMzHsEo5


20. The chemical formula of baryte, the salt of

sulphur is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

CaSO4. 2H2O

MgSO4. 7H2O

BaSO4

CuFeS2

https://dl.doubtnut.com/l/_A1HafMzHsEo5


21. Which is most acidic in nature?

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

Na2O

NO2

Al2O3

CaO

https://dl.doubtnut.com/l/_RxoIJl1yg3Hy


22. The oxide of nitrogen used as an

anaesthetic for minor operation by dentists is

A. 

B. 

C. NO

D. 

Answer: A

Watch Video Solution

N2O

N2O4

N2O3

https://dl.doubtnut.com/l/_12d3Ii26uKx0


23. The reddish brown coloured gas formed

when nitric oxide is oxidised by air is

A. 

B. 

C. 

D. 

Answer: B

View Text Solution

N2O5

N2O3

NO2

N2O4

https://dl.doubtnut.com/l/_wuiZnxBs9k47


24. Atoms in  molecule of white phosphorus

are arranged regularly in the following way :

A. at the corners of a cube

B. at the corners of an octahedron

C. at the corners of tetrahedron

D. at the centre and corners of tetrahedron

Answer: C

Watch Video Solution

P4

https://dl.doubtnut.com/l/_GRRb81LneZHs


25. The most abundant inert gas in the

atmosphere

A. He

B. Ne

C. Ar

D. Kr

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_kuKbmnAfZdQC


26. The last orbit of argon would have electrons

A. 8

B. 18

C. 2

D. 6

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_91itjheFMqXc


27. In the clathrates of xenon with water, the

nature of bonding between xenon and water

molecule is:

A. covalent

B. hydrogen bonding

C. co-ordinate

D. dipole-induced dipole interactions

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_cYcKSfK7WEW4


28. Which of the following statements is not

true about noble gases ?

A. Their ionisation energies are very high

B. Their electronic affinities are nearly zero

C. They don't form any chemical compounds

D. They are not easily liquified

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_NYCWFL2ZN0PB


29. Bleaching action of  is due to______.

A. oxidation

B. acidic nature

C. reduction

D. basic nature

Answer: C

Watch Video Solution

SO2

https://dl.doubtnut.com/l/_4sTttBzs1utG


30. On passing  through acidified 

solution  is converted into

A. 

B. FeS

C. 

D. 

Answer: C

Watch Video Solution

H2S FeCl3

FeCl3

Fe2(SO4)3

FeCl2

FeSO4

https://dl.doubtnut.com/l/_9ld7PCWtpvsg


31. The equivalent weight of sulphur in  is

A. 16

B. 32

C. 64

D. 8

Answer: B

Watch Video Solution

S2Cl2

https://dl.doubtnut.com/l/_nHpEjC4azkhf


32. Hydrogen sulphide reacts with lead acetate

forming a black compound which reacts with

 to form another compound. The colour

of the compound is

A. Black

B. Yellow

C. White

D. Pink

Answer: C

Watch Video Solution

H2O2

https://dl.doubtnut.com/l/_7VwQ4ccQJBNS


33. Starch-iodide solution is

A. blue

B. deep blue

C. yellow

D. pink

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_7VwQ4ccQJBNS
https://dl.doubtnut.com/l/_O7thaM41LeiM
https://dl.doubtnut.com/l/_2cdEAYuLaty8


34. Sea weeds are important source of

A. F

B. Cl

C. Br

D. I

Answer: D

Watch Video Solution

35. Chlorine is used in water for

https://dl.doubtnut.com/l/_2cdEAYuLaty8
https://dl.doubtnut.com/l/_uA01GsoHpxbi


A. killing germs

B. prevention of pollution

C. cleansing

D. removing dirt

Answer: A

View Text Solution

36. Hydrogen bonding is strongest in

A. O - H--- F

https://dl.doubtnut.com/l/_uA01GsoHpxbi
https://dl.doubtnut.com/l/_ZfL9DS6noA3G


B. S - H --- O

C. F - H --- F

D. F- H --- O

Answer: C

Watch Video Solution

37. The boiling point and melting point of inert

gases are

A. high

https://dl.doubtnut.com/l/_ZfL9DS6noA3G
https://dl.doubtnut.com/l/_cauO1fPxrWZo


B. low

C. very high

D. very low

Answer: D

View Text Solution

38. Which of the following outer electronic

configuration represents argon ?

A. ns2

https://dl.doubtnut.com/l/_cauO1fPxrWZo
https://dl.doubtnut.com/l/_n6lRcpkeYlPS


B. 

C. 

D. 

Answer: B

Watch Video Solution

ns2np6

ns2np5

ns2np4

39. The charcoal maintained at  absorbs

A. Ne and Kr

B. He and Ar

100∘C

https://dl.doubtnut.com/l/_n6lRcpkeYlPS
https://dl.doubtnut.com/l/_y7etpD8AP5mg


C. Ar, Kr and Xe

D. He and Ne

Answer: C

View Text Solution

40. A 500 g toothpaste sample has  g

fluoride concentration. What is the

concentration of  in ppm ?

A. 250

0.2

F Θ

https://dl.doubtnut.com/l/_y7etpD8AP5mg
https://dl.doubtnut.com/l/_Nl17EomlKHSj


B. 200

C. 400

D. 100

Answer: C

Watch Video Solution

41. A greenish yellow gas reacts with an alkin

metal hydroxide to form a halate which can be

used in fireworks and saftey matches. The gas

and the halate are

https://dl.doubtnut.com/l/_Nl17EomlKHSj
https://dl.doubtnut.com/l/_yrYp5EaqPc8l


A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

Br2, KBrO3

Cl2, KClO3

I2, NaIO3

Cl2, NaClO3

42. Which one of the following is used in

radiotherapy ?

https://dl.doubtnut.com/l/_yrYp5EaqPc8l
https://dl.doubtnut.com/l/_3eK3NP4r4wxe


A. Ar

B. Kr

C. Xe

D. Rn

Answer: D

View Text Solution

43. The noble gas which was discovered first in

the sun and then on the earth

https://dl.doubtnut.com/l/_3eK3NP4r4wxe
https://dl.doubtnut.com/l/_Bz17cI1O2jnz


A. Ar

B. Xe

C. Ne

D. He

Answer: D

Watch Video Solution

44. Which of the following halogen can replace

others?

https://dl.doubtnut.com/l/_Bz17cI1O2jnz
https://dl.doubtnut.com/l/_mN3kSN8DWfcD


A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

I2

Br2

F2

Cl2

45. The bond energies of 

are 155, 244, 193 and 151  respectively.

The weakest bond will be in :

F2, Cl2, Br2 and I2

kJmol− 1

https://dl.doubtnut.com/l/_mN3kSN8DWfcD
https://dl.doubtnut.com/l/_Qlnw1jfkSZkv


A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

Br2

Cl2

F2

I2

46. The increasing order of acid strength of

hydrogen halide in water is

https://dl.doubtnut.com/l/_Qlnw1jfkSZkv
https://dl.doubtnut.com/l/_87X5bI3Yjv4D


A. HFgt HCl gt HBr gt HI

B. HCl gtHFgt HBr gt HI

C. HlgtHBrgtHClgtHF

D. HClgtHBrgtHFgtHI

Answer: C

View Text Solution

47. Bromine gas turns starch iodide paper

A. blue

https://dl.doubtnut.com/l/_87X5bI3Yjv4D
https://dl.doubtnut.com/l/_Jcz9i5PozqVm


B. red

C. colourless

D. yellow

Answer: A

Watch Video Solution

48. Which is planar molecule ?

A. 

B. 

XeO4

XeF4

https://dl.doubtnut.com/l/_Jcz9i5PozqVm
https://dl.doubtnut.com/l/_A239Pq98U7Hj


C. 

D. 

Answer: B

Watch Video Solution

XeOF4

XeO2F2

49. Which of the following noble gases does

not have an octer of electrons in its outermost

shell ?

A. Ne

https://dl.doubtnut.com/l/_A239Pq98U7Hj
https://dl.doubtnut.com/l/_reBcVZAokTEb


B. Rn

C. Ar

D. He

Answer: D

Watch Video Solution

50. The coloured discharge tubes for

advertisement mainly contains

A. Xe

https://dl.doubtnut.com/l/_reBcVZAokTEb
https://dl.doubtnut.com/l/_EwEu8wpahVxX


B. He

C. Ne

D. Ar

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_EwEu8wpahVxX

